Course:	AEAH - 1750 001 - Visual Arts Integration	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	9 / 25 (36%)

Cou	rse Evaluation Questions					Guevara					
				Res	oonses (%	.)	In	dividual			
		SD	D	N	Α	SA	N	Mean			
Q1	My instructor explains difficult material clearly.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6			
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 44.4%	5 55.6%	9	4.6			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				Al	EAH	- 1750 - 0	01		Survey Comparisons				
		Responses (%)					(Course	All				
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	25	4.6	72		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	48	4.6	83		

Course:	EDEE - 2210 002 - Social Studies and Science Curriculum Grades EC-6	Department:	518200
Responsible Faculty:	Mara Vaughn	Responses / Expected:	8 / 17 (47.06%)

Cou	se Evaluation Questions				ara Vaug	hn		
	• • • • • • • • • • • • • • • • • • • •			Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	0	6 75%	8	4.5
Q7	My instructor establishes a climate of respect for students.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					EDEE - 2	210 - 002	Survey Comparisons				
			Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	25	4.6	72
(Q16 The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	48	4.6	39

Summer 2017 3W1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 3W1	UNT-Dallas

Course:	HSML - 4525 040 - Problems of Youth: Prevention and Intervention	Department:	518000
Responsible Faculty:	Cynthia Johnson	Responses / Expected:	8 / 10 (80%)

^	Forbusting Occasions			(Cynthia Jo	ohnson		
Coui	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	0	7 87.5%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		HSML - 4525 - 040								Survey Comparisons				
		Responses (%)					(Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	25	4.6	6			
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	48	4.6	56			

Course:	MGMT - 3860 010 - Human Resource Management	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	9 / 39 (23.08%)

٥	Furbustion Occasions				Elizabeth	Muniz		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MGMT - 3	3860 - 010				ons	
Lab	s and Online Learning Questions			Res	ponses (%))	(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	25	4.6	33
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	48	4.6	56

Course:	MGMT - 3860 011 - Human Resource Management	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	9 / 36 (25%)

٥	se Evaluation Questions			- 1	Elizabeth	Muniz		
Cour	SE EVALUATION QUESTIONS			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MGMT - 3	3860 - 011			Survey Comparisons				
Lal	Labs and Online Learning Questions			Res	ponses (%))	(Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	25	4.6	33		
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	48	4.6	28		

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 4470 010 - Leadership	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	16 / 39 (41.03%)

Cour	se Evaluation Questions			Fra	nces Con	ner		
Cour	se Evaluation Questions		Inc	lividual				
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 6.3%	1 6.3%	1 6.3%	4 25%	9 56.3%	16	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 6.3%	0	1 6.3%	4 25%	10 62.5%	16	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	1 6.3%	1 6.3%	3 18.8%	10 62.5%	16	4.3
Q7	My instructor establishes a climate of respect for students.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 6.7%	0	1 6.7%	2 13.3%	11 73.3%	15	4.5
Q9	My instructor encourages me to do my best work.	1 6.3%	0	1 6.3%	3 18.8%	11 68.8%	16	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 6.3%	0	2 12.5%	3 18.8%	10 62.5%	16	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.3%	0	1 6.3%	4 25%	10 62.5%	16	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 6.3%	0	1 6.3%	4 25%	10 62.5%	16	4.4
Q13	My instructor encourages me to develop new viewpoints.	1 6.3%	0	1 6.3%	4 25%	10 62.5%	16	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	1 6.3%	1 6.3%	1 6.3%	4 25%	9 56.3%	16	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			MGMT - 4470 - 010						Survey Comparisons				
Lal	s and Online Learning Questions	Responses (%)					C	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	25	4.6	17		
Q1	The course topics are organized in a coherent fashion.	1 7.1%	0	0	5 35.7%	8 57.1%	14	4.4	48	4.6	6		

Course:	MUED - 1130 001 - Foundations in Music	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	9 / 24 (37.50%)

Cour	se Evaluation Questions				Ruth Gu	evara		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs	and Online Learning Questions		Res			- 1130 - 0 (%)		Course		- Survey Comparis	ons
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	25	4.6	72
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	48	4.6	83

Course:	PLDR - 5330 030 - Organization Theory and Managing Change in Public Service	Department:	514240
Responsible Faculty:	Larry Terry	Responses / Expected:	3 / 9 (33.33%)

٥	Furthering Occasions			Lar	ry Terry			
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	0	2 66.7%	3	3.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

l al	Labs and Online Learning Questions		_			330 - 030		20	Survey Comparisons All			
Lai	s and online Learning Questions			Mean	N	Mean Pct Rnk						
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	25	4.6	72	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	48	4.6	17	

Course:	THEA - 1130 001 - Introduction to Creative Drama in the Elementary School	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	9 / 24 (37.50%)

Com	se Evaluation Questions	Ruth Guevara						
Cour	se Evaluation Questions			Res	ponses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			TH	IEA	- 1130 - 0	01		Survey Comparisons			
La			Res	pons	ses	(%)	(Course	All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q	5 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	25	4.6	72	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	48	4.6	83	

Course:	CJUS - 4850 001 - Internship in Criminal Justice	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	1 / 3 (33.33%)

Cour	Course Evaluation Questions					hen Hack			
Cour	SE LYaluation Questions		Res	pon	ses	(%)	In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CJUS -	4850	- 001		Survey Comparisons				
Labs	Labs and Online Learning Questions		Responses (%)						All			
		SD D N A SA I		N	Mean	n N Mean		Pct Rnk				
Q15	The section or lab is well integrated into the course structure.	1 100%	0	0	0	0	1	1.0	36	4.1	26	
Q16	The course topics are organized in a coherent fashion.	0	0	1 100%	0	0	1	3.0	53	4.3	17	

Course:	COUN - 5100 040 - Counseling Professional Orientation and Ethical Practice	Department:	518000
Responsible Faculty:	Terra Wagner	Responses / Expected:	2 / 7 (28.57%)

Cour	rse Evaluation Questions			Т	erra Wa	agner		
Cour	se Evaluation Questions		Re	esponse	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	0	1 50%	2	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \textbf{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \textbf{Disagree=2} \ \ [\textbf{N}] \ \ \textbf{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \textbf{Agree=4} \ \ [\textbf{SA}] \ \ \textbf{Strongly Agree=5} \ \ \textbf{Sagree=4} \ \ \textbf{Sagree=4}$

	Labs and Online Learning Questions				COUN - 5	100 - 040		Survey Comparisons			
Lat			Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N Mean		Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	36	4.1	60
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	53	4.3	90

Summer 2017 10W Survey	University of North Texas at Dallas
6173 - Summer 2017 - 10W	UNT-Dallas UNT-Dallas

Course:	COUN - 5461 001 - Professional School Counseling	Department:	518000
Responsible Faculty:	Trigg Even	Responses / Expected:	2 / 7 (28.57%)

Cou	rse Evaluation Questions		_			gg Even		dividual
		SD	D		onses (S	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Dis	agree	=3 [[A] Agre	e=4 [SA]	Strong	gly Agree=

Course:	COUN - 5470 040 - Career Development and Information Resources	Department:	518000
Responsible Faculty:	Terra Wagner	Responses / Expected:	3 / 6 (50%)

Cour	se Evaluation Questions				Terra Wa	agner		
Cour	se evaluation questions			Respon	ises (%)	ı	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions		COUN - 5470 - 040							Survey Comparisons				
	Laus and Online Learning Questions		Resp		sponses (%)			Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
(The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	36	4.1	60			
(Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	53	4.3	79			

Course:	COUN - 5480 040 - Diagnosis and Treatment Planning in Counseling	Department:	518000
Responsible Faculty:	Amy McCortney	Responses / Expected:	4 / 8 (50%)

٥	Further Overhiller			Amy	МсСо	rtney		
Cour	se Evaluation Questions		Res	ponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 50%	0	2 50%	0	4	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	2 50%	1 25%	4	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	1 25%	0	2 50%	1 25%	4	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 50%	1 25%	1 25%	4	3.8
Q9	My instructor encourages me to do my best work.	0	0	1 25%	3 75%	0	4	3.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	3 75%	0	4	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 25%	0	2 50%	1 25%	4	3.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 25%	0	2 50%	1 25%	4	3.8
Q13	My instructor encourages me to develop new viewpoints.	0	1 25%	0	2 50%	1 25%	4	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	1 25%	1 25%	1 25%	4	3.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			C	DUN - 5480	Survey Comparisons						
Labs and Online Learning Questions	Responses (%) Cour						Course	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	36	4.1	40	
Q16 The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	53	4.3	21	

Course:	COUN - 5490 001 - Crisis Intervention Counseling	Department:	518000
Responsible Faculty:	Cynthia Matthews	Responses / Expected:	4 / 10 (40%)

C	one Fredrickian Overstians			Су	nthia M	latthew	s	
Cour	se Evaluation Questions		R	Respons	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	3 75%	1 25%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 75%	1 25%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 75%	1 25%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C	COUN - 5	5 490 - 0 0)1		Survey Comparisons				
La	os and Online Learning Questions	Responses (%)					Course		All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q ²	The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	36	4.1	74		
Q	The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	53	4.3	50		

Course:	COUN - 5500 040 - Human Sexuality in Counseling	Department:	518000
Responsible Faculty:	Amy McCortney	Responses / Expected:	1 / 6 (16.67%)

C	rea Fusilization Outstand			Amy M	сСо	rtney		
Cou	rse Evaluation Questions		Respo	onses (%))		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 100%	0	0	0	1	2.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 100%	0	0	1	3.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 100%	0	0	1	3.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 100%	0	0	1	3.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 100%	0	0	1	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 100%	0	0	0	1	2.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 100%	0	0	1	3.0
Q8	My instructor is available to me on matters pertaining to the course.	0	1 100%	0	0	0	1	2.0
Q9	My instructor encourages me to do my best work.	0	0	1 100%	0	0	1	3.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 100%	0	0	0	1	2.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 100%	0	0	0	1	2.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	l aba	abs and Online Learning Questions			COUN - 5		- 040		Survey Comparisons All				
'	Laus			Resp	onses (%)				Course		Pct		
			SD	D	N	Α	SA	N	Mean	N	Mean	Rnk	
'	Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	36	4.1	31	
	Q16	The course topics are organized in a coherent fashion.	0	1 100%	0	0	0	1	2.0	53	4.3	12	

Summer 2017 10W Survey	University of North Texas at Dallas
6173 - Summer 2017 - 10W	UNT-Dallas UNT-Dallas

Course:	COUN - 5660 001 - Advanced Counseling Skills	Department:	518000
Responsible Faculty:	Leslie Laws	Responses / Expected:	1 / 4 (25%)

Cour	se Evaluation Questions		D		Leslie La	ws		d:-::d:1
		SD	Resp D	onse N	es (%) A	SA	In N	dividual Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 100%	0	0	0	1	2.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Ag	ree or D)isagree=3	B [A]	Agree=4	[SA] S	Strong	gly Agree=

University of North Texas at Dallas UNT-Dallas

Course:	COUN - 5670 001 - Developmental Processes and Strategies	Department:	518000
Responsible Faculty:	Cynthia Matthews	Responses / Expected:	8 / 9 (88.89%)

Cour	se Evaluation Questions			С	ynthia Ma	atthews					
Cour	SE EVALUATION QUESTIONS			Respon	ıses (%)		In	dividual			
		SD	D	N	Α	SA	N	Mean			
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9			
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9			
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9			
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 25%	2 25%	4 50%	8	4.3			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	abs and Online Learning Questions		COUN - 5670 - 001							Survey Comparisons				
La			Responses (%)				(Course	All					
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	36	4.1	81			
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	53	4.3	69			

University of North Texas at Dallas UNT-Dallas

Course:	COUN - 5690 002 - Practicum in Counseling	Department:	518000
Responsible Faculty:	Jamaica Chapple	Responses / Expected:	3 / 4 (75%)

		Jamaica Chapple											
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual					
		SD	D	N	Α	SA	N	Mean					
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7					
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3					
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3					
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0					
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0					
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7					
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3					
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	1 33.3%	0	0	1 33.3%	3	2.7					
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7					
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	1 33.3%	0	0	1 33.3%	3	2.7					
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7					
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3					
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3					
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	abs and Online Learning Questions		COUN - 5690 - 002							Survey Comparisons			
Lab			Responses (%)				(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	36	4.1	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	53	4.3	36		

University of North Texas at Dallas UNT-Dallas

Course:	COUN - 5720 001 - Internship in Counseling I	Department:	518000
Responsible Faculty:	Yu-fen Lin	Responses / Expected:	3 / 6 (50%)

Cour	se Evaluation Questions					en Lin		
			0 0 0 0 1 33.3% 66.7% 0 0 0 0 1 33.3% 66.7% 0 0 0 0 1 33.3% 66.7% 0 0 0 0 1 33.3% 66.7% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 100% 0 0 0 0 0 3 3 100% 0 0 0 0 0 3 3 100% 0 0 0 0 0 3 3 100% 0 0 0 0 0 3 3 100% 0 0 0 0 0 3 3 100%					dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0		2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0		2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0		2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		COUN - 5720 - 001							Survey Comparisons			
Labs and Online Learning Questions		Re	Responses (%) Course All		All							
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15 The section or lab is well integrated into the course structure	e. 0	0	0	1 50%	1 50%	2	4.5	36	4.1	81		
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	53	4.3	69		

University of North Texas at Dallas UNT-Dallas

Course:	COUN - 5721 001 - Internship in Counseling II	Department:	518000
Responsible Faculty:	Leslie Laws	Responses / Expected:	4 / 6 (66.67%)

Cour	se Evaluation Questions			L	eslie La	aws			
Cour	se Evaluation Questions						In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	1 25%	0	3 75%	4	4.5	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	0	3 75%	4	4.5	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	
Q9	My instructor encourages me to do my best work.	0	1 25%	0	0	3 75%	4	4.3	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5	
Q13	My instructor encourages me to develop new viewpoints.	0	1 25%	0	0	3 75%	4	4.3	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	0	3 75%	4	4.5	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	and Outline Learning Occasions	COUN - 5721 - 001							Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%) Cours		Course	All								
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	36	4.1	93		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	53	4.3	69		

Course:	COUN - 5765 040 - Appraisal in Counseling	Department:	518000
Responsible Faculty:	Jennifer Baggerly	Responses / Expected:	5 / 7 (71.43%)

Cour	se Evaluation Questions			J	lennifer	Baggerly	1		
Cour	SE EVALUATION QUESTIONS			Respon	ıses (%)		ln	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	0	4 80%	5	4.6	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	0	4 80%	5	4.6	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		COUN - 5765 - 040							Survey Comparisons			
		Responses ((Course	All				
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	36	4.1	93		
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	53	4.3	90		

Course:	COUN - 5765 041 - Appraisal in Counseling	Department:	518000
Responsible Faculty:	Jennifer Baggerly	Responses / Expected:	6 / 9 (66.67%)

Com	se Evaluation Questions			Jen	nifer Bago	gerly		
ooui	Se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

University of North Texas at Dallas UNT-Dallas

				C	OUN - 57	765 - 04 ⁻	1		Survey Comparisons				
Lal	s and Online Learning Questions		Responses (%) Course		All								
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	36	4.1	45		
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	53	4.3	60		

University of North Texas at Dallas UNT-Dallas

Course:	EDAD - 5500 001 - Internship in Educational Administration	Department:	518200
Responsible Faculty:	Douglas Shouse	Responses / Expected:	6 / 11 (54.55%)

٥	Furbustion Occasions			l	Douglas S	house		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 20%	0	4 80%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 33.3%	0	4 66.7%	6	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 33.3%	0	4 66.7%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	0	4 80%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				-	EDAD - 550	00 - 00	1		Survey Comparisons					
Lab	s and Online Learning Questions	Responses (%)					(Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	36	4.1	-			
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	53	4.3	36			

University of North Texas at Dallas UNT-Dallas

Course:	EDAD - 5700 001 - Practicum in Educational Leadership	Department:	518200
Responsible Faculty:	Douglas Shouse	Responses / Expected:	4 / 11 (36.36%)

Cou	rse Evaluation Questions		_			glas Shou		
				-	ses	, ,		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EC	DAD	- 5700 - 0	01			- Survey Comparis	ons
Lab	and Online Learning Questions	Responses (%) Course					Course	All			
	SD D N A SA N Mean		N	Mean	Pct Rnk						
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	36	4.1	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	53	4.3	90

University of North Texas at Dallas UNT-Dallas

Course:	EPSY - 5050 040 - Foundations of Educational Research Methodology	Department:	518000
Responsible Faculty:	Trigg Even	Responses / Expected:	8 / 14 (57.14%)

٥	se Evaluation Questions				Trigg E	ven		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	8 100%	8	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	0	7 87.5%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Laba and Online Learning Oversions						050 - 040	Survey Comparisons				
'	Labs and Online Learning Questions			Res	ponses (%))	(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
•	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	36	4.1	60
1	Q16 The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	53	4.3	55

Summer 2017 10W Survey
University of North Texas at Dallas
6173 - Summer 2017 - 10W
UNT-Dallas

Course:	HIST - 2610 030 - United States History to 1865	Department:	514000
Responsible Faculty:	Mark Stanley	Responses / Expected:	8 / 20 (40%)

٠	on Fundation Quanting			М	ark Stanl	еу		
Cour	se Evaluation Questions		ı	Response	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	4 50%	1 12.5%	3 37.5%	8	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	3 37.5%	2 25%	2 25%	8	3.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 25%	2 25%	4 50%	8	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	1 12.5%	5 62.5%	8	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	2 25%	4 50%	8	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 25%	2 25%	4 50%	8	4.3
Q9	My instructor encourages me to do my best work.	0	1 12.5%	2 25%	2 25%	3 37.5%	8	3.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	3 37.5%	0	4 50%	8	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	2 25%	1 12.5%	4 50%	8	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 12.5%	2 25%	2 25%	3 37.5%	8	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	2 25%	2 25%	3 37.5%	8	3.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		HIST - 2610 - 030								Survey Comparisons			
Li	Labs and Online Learning Questions		Responses (%)						All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	1 20%	1 20%	0	3 60%	5	4.0	36	4.1	60		
Q	The course topics are organized in a coherent fashion.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	53	4.3	36		

Course:	HIST - 2620 030 - United States History Since 1865	Department:	514000
Responsible Faculty:	Mark Stanley	Responses / Expected:	4 / 19 (21.05%)

٥	as Fusivation Overtions			М	ark Sta	nley		
Cour	se Evaluation Questions		Res	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 50%	1 25%	1 25%	4	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	2 50%	1 25%	4	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	2 50%	1 25%	4	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 25%	0	1 25%	2 50%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 50%	0	2 50%	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 25%	1 25%	1 25%	1 25%	4	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ST - 262	0 - 030				Survey Comparis	ons
Lai	s and Online Learning Questions		F	Respons	es (%)		(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	36	4.1	36
Q1	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	53	4.3	36

Course:	LSCM - 4800 001 - Logistics Internship	Department:	516100
Responsible Faculty:	Subhro Mitra	Responses / Expected:	3 / 7 (42.86%)

٥	na Fusiontian Quantiana				Su	bhro Mitr	а	
Cour	se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				LS	СМ	- 4800 - 0	01			- Survey Comparis	ons
La	s and Online Learning Questions	Responses (%) Course					(All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	36	4.1	93
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	53	4.3	90

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 4800 001 - Internship	Department:	516100
Responsible Faculty:	Subhro Mitra	Responses / Expected:	1 / 1 (100%)

Cour	se Evaluation Questions				Sul	ohro Mitr	а	
Cour	SE EVALUATION QUESTIONS		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

l ah	s and Online Learning Questions		D-		IGMT - 48	00 - 00		Course		- Survey Comparise All	ons
Lab	s and online Learning Questions	SD	D	Spoi	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	36	4.1	60
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	53	4.3	36

Course:	BUSI - 5190 010 - Administrative Strategy	Department:	516100
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	7 / 21 (33.33%)

٥	Full stire Out at the			Ayse G	oktan Bil	han		
Coui	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 14.3%	2 28.6%	2 28.6%	2 28.6%	7	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	1 14.3%	3 42.9%	2 28.6%	7	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 71.4%	2 28.6%	7	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	0	2 28.6%	2 28.6%	2 28.6%	7	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	4 57.1%	1 14.3%	7	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BUS	SI - 5190	0 - 010				Survey Comparis	ons
Labs	and Online Learning Questions		Re	esponse	es (%)		(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 25%	0	1 25%	1 25%	1 25%	4	3.3	32	4.2	25
Q16	The course topics are organized in a coherent fashion.	1 20%	0	0	3 60%	1 20%	5	3.6	47	4.3	15

Course:	CJUS - 5270 030 - Criminal Evidence	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	2 / 11 (18.18%)

Cou	rse Evaluation Questions					n Hackar		
			_		onses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Lab	s and Online Learning Questions	CJUS - 5270 - 030 Responses (%) Course							Survey Comparisons			
		SD	D	N	A	SA	N	Mean	N Mean		Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	32	4.2	85	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	47	4.3	45	

Course:	CJUS - 5460 030 - Correctional Practices and Programs	Department:	514100
Responsible Faculty:	Melinda Schlager Arnold	Responses / Expected:	2 / 11 (18.18%)

Cour	se Evaluation Questions					Schlager		
oou.	oc Litaliani Questioni		Res	_	es (In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 50%	0	0	0	1 50%	2	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 50%	0	0	0	1 50%	2	3.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 50%	0	0	0	1 50%	2	3.0
Q4	My instructor provides material that helps me do well on assignments.	1 50%	0	0	0	1 50%	2	3.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 50%	0	0	0	1 50%	2	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	0	1 50%	2	3.0
Q7	My instructor establishes a climate of respect for students.	1 50%	0	0	0	1 50%	2	3.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	1 50%	0	0	0	1 50%	2	3.0
Q10	My instructor provides timely feedback to guide my progress.	1 50%	0	0	0	1 50%	2	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 50%	0	0	0	1 50%	2	3.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 50%	0	0	0	1 50%	2	3.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labe	and Online Learning Organisms	CJUS - 5460 - 030 Responses (%) Course							Survey Comparisons			
Labs	and Online Learning Questions		oons	es (%)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	32	4.2	85	
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	0	1 50%	2	3.0	47	4.3	5	

Course:	MATH - 1680 030 - Elementary Probability and Statistics	Department:	514160
Responsible Faculty:	Byungik Kahng	Responses / Expected:	6 / 25 (24%)

C	on Fundation Quanting			Ву	ungik Kal	ing		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		MATH - 1680 - 030							Survey Comparisons			
La	os and Online Learning Questions		Responses (%) Course		All							
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	32	4.2	45	
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	47	4.3	55	

Course:	MATH - 4900 001 - Special Problems	Department:	514160
Responsible Faculty:	Richard Chandler	Responses / Expected:	3 / 11 (27.27%)

Cour	se Evaluation Questions					Chandler		
	· · · · · · · · · · · · · · · · · · ·			Resp	onses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

University of North Texas at Dallas UNT-Dallas

				M	ATH	- 4900 - 0	01			- Survey Comparis	ons
Lab	and Online Learning Questions		Res	pons	ses ((%)		Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	32	4.2	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	47	4.3	90

Course:	MATH - 5680 030 - Introduction to Probability and Statistics	Department:	514160
Responsible Faculty:	Ali Shaqlaih	Responses / Expected:	2 / 7 (28.57%)

Cour	se Evaluation Questions				Ali S	haqlaih		
Cour	se Evaluation Questions		F	lesp	onses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		MATH - 5680 - 030							Survey Comparisons		
La	os and Online Learning Questions	Responses (%)				(%)	Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	32	4.2	85
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	47	4.3	90

Course:	MGMT - 4880 011 - Management of Projects and Systems	Department:	516100
Responsible Faculty:	Subhro Mitra	Responses / Expected:	10 / 38 (26.32%)

Cou	se Evaluation Questions			;	Subhro M	itra		
Coui	SE LYGIUGUOII QUESTIONS			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 40%	6 60%	10	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 30%	7 70%	10	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	3 30%	6 60%	10	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	0	3 30%	6 60%	10	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 40%	6 60%	10	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	2 20%	7 70%	10	4.6
Q9	My instructor encourages me to do my best work.	0	0	2 20%	1 10%	7 70%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	2 20%	1 10%	1 10%	6 60%	10	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	2 20%	6 60%	10	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	2 20%	1 10%	6 60%	10	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	2 20%	1 10%	6 60%	10	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				MGMT - 4	1880 - 011	Survey Comparisons				
Lab			Responses (%)				(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 42.9%	4 57.1%	7	4.6	32	4.2	55
Q10	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	47	4.3	70

Summer 2017 8W1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 8W1	UNT-Dallas

Course:	MGMT - 5120 010 - Managing Organizational Design and Change	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	10 / 25 (40%)

۰	on Fusionation Overtions				Frances (Conner		
Coui	se Evaluation Questions			Respor	ıses (%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	3 30%	6 60%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 40%	6 60%	10	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 40%	6 60%	10	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 10%	3 30%	6 60%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 30%	7 70%	10	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	2 20%	7 70%	10	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 30%	7 70%	10	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	3 30%	6 60%	10	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				MGMT - 9	5120 - 010	Survey Comparisons				
Lab			Responses (%)				(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	32	4.2	65
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	47	4.3	70

Course:	MGMT - 5240 010 - Project Management	Department:	516100
Responsible Faculty:	Subhro Mitra	Responses / Expected:	11 / 33 (33.33%)

Cou	rse Evaluation Questions				ubhro Mit	ra		
oou.	SE ET MILLION QUESTIONS		- 1	Response	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 18.2%	2 18.2%	7 63.6%	0	11	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	9 81.8%	2 18.2%	11	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	9 81.8%	2 18.2%	11	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	9 81.8%	1 9.1%	11	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 18.2%	9 81.8%	0	11	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 18.2%	2 18.2%	7 63.6%	0	11	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	9 81.8%	1 9.1%	11	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	10 90.9%	1 9.1%	11	4.1
Q9	My instructor encourages me to do my best work.	0	0	2 20%	7 70%	1 10%	10	3.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	2 18.2%	7 63.6%	1 9.1%	11	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 9.1%	0	9 81.8%	1 9.1%	11	3.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 18.2%	8 72.7%	1 9.1%	11	3.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 27.3%	6 54.5%	2 18.2%	11	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 18.2%	0	8 72.7%	1 9.1%	11	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			MGM	T - 5240 -		Survey Comparisons				
Lat			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 16.7%	1 16.7%	4 66.7%	0	6	3.5	32	4.2	35
Q1	The course topics are organized in a coherent fashion.	0	1 11.1%	0	6 66.7%	2 22.2%	9	4.0	47	4.3	30

Summer 2017 8W1 Survey 6173 - Summer 2017 - 8W1 University of North Texas at Dallas UNT-Dallas

Course:	SOCI - 4540 030 - Race and Ethnic Minorities	Department:	514200
Responsible Faculty:	Adrian Tan	Responses / Expected:	3 / 23 (13.04%)

٥	Toolyation Occations				Adrian	Tan		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 100%	0	0	2	3.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q9	My instructor encourages me to do my best work.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 66.7%	0	1 33.3%	3	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		SOCI - 4540 - 030 Responses (%) Course								Survey Comparisons All			
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	32	4.2	15		
Q16	The course topics are organized in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	47	4.3	30		

Summer 2017 5W1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W1	UNT-Dallas

Course:	ACCT - 2010 001 - Accounting Principles I (Financial Accounting)	Department:	516100
Responsible Faculty:	Cathy Scott	Responses / Expected:	5 / 20 (25%)

Сош	rse Evaluation Questions				Cathy	Scott				
ooui	Se Printerior Questions		F	Respons	es (%)		In	dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	1 20%	0	4 80%	5	4.6		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	1 20%	3 60%	5	4.4		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2		
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	0	4 80%	5	4.6		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	1 20%	3 60%	5	4.4		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	0	4 80%	5	4.6		
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	0	4 80%	5	4.6		
Q9	My instructor encourages me to do my best work.	0	0	1 20%	0	4 80%	5	4.6		
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	0	4 80%	5	4.6		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	0	4 80%	5	4.6		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

I abs	Labs and Online Learning Questions			AC Respons	CT - 201	10 - 001	Course	Survey Comparisons			
Lube	and online and mig (account)		D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	218	4.2	36
Q16	The course topics are organized in a coherent fashion.	0	0	1 25%	1 25%	2 50%	4	4.3	338	4.3	35

Summer 2017 5W1 Survey 6173 - Summer 2017 - 5W1 University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 3110 001 - Intermediate Accounting I	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	21 / 27 (77.78%)

C-1	on Fundantian Operations				Patricia	Wynn		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	7 33.3%	14 66.7%	21	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 28.6%	15 71.4%	21	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 25%	15 75%	20	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	7 33.3%	14 66.7%	21	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	7 33.3%	14 66.7%	21	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 9.5%	7 33.3%	12 57.1%	21	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 19%	17 81%	21	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 14.3%	18 85.7%	21	4.9
Q9	My instructor encourages me to do my best work.	0	0	1 4.8%	5 23.8%	15 71.4%	21	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 23.8%	16 76.2%	21	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 28.6%	15 71.4%	21	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	7 33.3%	14 66.7%	21	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 9.5%	8 38.1%	11 52.4%	21	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	9 42.9%	12 57.1%	21	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				A	CCT - 3110		Survey Comparisons					
La	Labs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q ²	The section or lab is well integrated into the course structure.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	218	4.2	56	
Q	The course topics are organized in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.8	338	4.3	80	

Course:	ACCT - 4400 001 - Auditing Professional Responsibilities	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	18 / 18 (100%)

C	se Evaluation Questions			P	atricia W	ynn		
Cour	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 5.6%	0	2 11.1%	15 83.3%	18	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 11.1%	16 88.9%	18	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 11.1%	16 88.9%	18	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 23.5%	13 76.5%	17	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 11.1%	16 88.9%	18	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 11.1%	16 88.9%	18	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	2 11.1%	16 88.9%	18	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 11.1%	0	16 88.9%	18	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 5.6%	17 94.4%	18	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 5.6%	17 94.4%	18	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ACCT - 4	400 - 001	Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	1 8.3%	0	0	1 8.3%	10 83.3%	12	4.6	218	4.2	69
Q16	The course topics are organized in a coherent fashion.	1 7.7%	0	0	1 7.7%	11 84.6%	13	4.6	338	4.3	72

	Course:	AGER - 4560 040 - Minority Aging	Department:	518000
Responsible	e Faculty:	Iftekhar Amin	Responses / Expected:	2 / 10 (20%)

Com	rse Evaluation Questions				Iftekha	r Amin		
Coui	SE EVALUATION QUESTIONS			Respo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	0	1 50%	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					AGER - 450	50 - 04	10		Survey Comparisons				
La	os and Online Learning Questions		Re	spo	nses (%)		Course		All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	218	4.2	36		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	338	4.3	22		

Course:	ART - 1300 030 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	5 / 11 (45.45%)

Com	se Evaluation Questions				Pan	nela Harr	is	
Cou	Se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					RT -	1300 - 03	30		Survey Comparisons			
La	s and Online Learning Questions		Responses (%) Course			All						
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	218	4.2	91	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	338	4.3	92	

Course:	BCIS - 3610 001 - Basic Information Systems	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	3 / 18 (16.67%)

0-	Forbutton Occations			Theod	lore Lars	on		
Cou	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 50%	0	0	1 50%	0	2	2.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q7	My instructor establishes a climate of respect for students.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q9	My instructor encourages me to do my best work.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q13	My instructor encourages me to develop new viewpoints.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	1 33.3%	0	1 33.3%	0	3	2.3

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$

				BCIS - 3	10 - 001	Survey Comparisons				
Labs and Online Learning Questions			Resp	onses (%)	(Course			
			D N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	1 50%	0 0	0	1 50%	2	3.0	218	4.2	20
Q16	The course topics are organized in a coherent fashion.	1 33.3%	0 0	1 33.3%	1 33.3%	3	3.3	338	4.3	12

Course:	BIOL - 1132 030 - Environmental Science	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	5 / 22 (22.73%)

Com	rse Evaluation Questions				Celly Va	rga		
Coui	SE LY GIUGLION QUESTIONS		Re	Responses (%)			In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	2 40%	2 40%	5	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 40%	1 20%	2 40%	5	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	2 40%	2 40%	5	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 60%	2 40%	5	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4
Q9	My instructor encourages me to do my best work.	0	0	0	3 60%	2 40%	5	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	5	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 60%	2 40%	5	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			BIOL - 1132 - 030							Survey Comparisons				
Lab	s and Online Learning Questions		Re	spo	sponses (%) Course			All						
		SD	D	N	A	SA	N	Mean	N Mean		Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	218	4.2	71			
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	338	4.3	69			

Course:	BIOL - 1132 330 - Environmental Science	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	8 / 22 (36.36%)

C	on Fundation Operations			Kel	lly Varga			
Coui	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 12.5%	1 12.5%	4 50%	2 25%	8	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	2 25%	2 25%	3 37.5%	8	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	4 50%	1 12.5%	2 25%	8	3.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	1 12.5%	1 12.5%	3 37.5%	2 25%	8	3.5
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q9	My instructor encourages me to do my best work.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	1 14.3%	3 42.9%	2 28.6%	7	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q13	My instructor encourages me to develop new viewpoints.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BIO	L - 1132 -	Survey Comparisons					
Lab	s and Online Learning Questions			Response	es (%)		C	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1	218	4.2	49
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9	338	4.3	17

Summer 2017 5W1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W1	UNT-Dallas

Course:	BIOL - 4570 001 - Biochemistry and Molecular Biology of the Gene	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	1 / 2 (50%)

C	Course Evaluation Questions				Aut	rey Frant	z	
Cou	se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BIOL - 457	70 - 00	1		S	ns	
Lab	s and Online Learning Questions		Re	espo	nses (%)	Course All				All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	218	4.2	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	338	4.3	22

Course:	BIOL - 5240 001 - Advanced Topics in Molecular Biology	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	1 / 1 (100%)

	My instructor explains difficult material clearly. My instructor provides facts, examples, and references that helped me learn the material. My instructor gives assignments that contribute to my understanding of the subject. My instructor provides material that helps me do well on assignments. My instructor explains new ideas by relating them to familiar concepts. My instructor evaluates my work in ways that are helpful to my ability to learn. My instructor establishes a climate of respect for students.			Aı	ıbre	y Frantz	itz		
Cour				esponse	s (%)	Inc	dividual	
		SD	D	N	A	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 100%	0	0	1	3.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		BIOL - 5240 - 001							Survey Comparisons					
Labs and Online Learning Questions		Responses (%)						Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean Pct Rnk		N Mean		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92			

Course:	CDFS - 3213 040 - Infant and Toddler Intervention	Department:	518000
Responsible Faculty:	Daphne Harris	Responses / Expected:	2 / 7 (28.57%)

Cour	urse Evaluation Questions				phne H	arris	rris			
Cour	se Evaluation Questions		Re	sponse	s (%)		In	dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	0	1 50%	2	4.0		
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5		
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	0	1 50%	2	3.5		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	0	1 50%	2	4.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					CDFS - 3	3213 - 040)		Survey Comparisons				
			R	espo	onses (%	6)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91		
q	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56		

Course:	CDFS - 3315 040 - Communication in Families	Department:	518000
Responsible Faculty:	Leslie Griffin	Responses / Expected:	4 / 9 (44.44%)

Cour	se Evaluation Questions			Le	eslie Gr	iffin		
Cour	se Evaluation Questions		Res	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 75%	0	1 25%	4	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 75%	1 25%	0	4	3.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 50%	0	2 50%	4	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	3 75%	1 25%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 75%	1 25%	4	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 50%	2 50%	0	4	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 50%	2 50%	0	4	3.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(CDFS - 3	315 - 04	0		Survey Comparisons			
La	Labs and Online Learning Questions		Re	spo	nses (%))	Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q ²	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62	
Q	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	338	4.3	56	

Course:	CDFS - 3423 040 - Family, School, and Community	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	6 / 15 (40%)

C	na Fueluation Quantinus			Ned	ra Washir	ngton		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 40%	0	2 40%	1 20%	5	3.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 60%	2 40%	5	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8
Q7	My instructor establishes a climate of respect for students.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	2 33.3%	0	2 33.3%	2 33.3%	6	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CDFS - 3	3423 - 040		Survey Comparisons			
Lab	Labs and Online Learning Questions		R	espo	nses (%	·)	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	218	4.2	91
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	338	4.3	56

Course:	CDFS - 4413 040 - Family Life Education	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	4 / 6 (66.67%)

Cour	se Evaluation Questions				ra Washi	ngton		
	· · · · · · · · · · · · · · · · · · ·			sponse	s (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 25%	1 25%	2 50%	0	4	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	1 25%	2 50%	0	4	3.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	3 75%	0	4	3.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 100%	0	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 50%	2 50%	0	4	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 50%	2 50%	0	4	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	3 75%	0	4	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	3 75%	0	4	3.8
Q9	My instructor encourages me to do my best work.	0	0	0	4 100%	0	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	3 75%	0	4	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 100%	0	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 100%	0	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	3 75%	0	4	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 50%	2 50%	0	4	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CDFS - 441	13 - 04	0		Survey Comparisons				
Lab	Labs and Online Learning Questions		Re	espo	nses (%)		(Course	All				
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	218	4.2	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	338	4.3	22		

Course:	CJUS - 2100 030 - Crime and Justice in the United States	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	3 / 4 (75%)

Cour	se Evaluation Questions				ahid Sidd	ique		
			_	Respons	es (%)	T	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 2	100 - 030		Survey Comparisons					
La	Labs and Online Learning Questions			Res	ponses (%))	Course			All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	338	4.3	76		

Course:	CJUS - 2301 030 - Correctional Systems and Practices	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	2 / 12 (16.67%)

C	rse Evaluation Questions			Joh	n Co	leman		
Coui	se Evaluation Questions		Resp	onses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 50%	0	0	1 50%	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 50%	0	0	1 50%	2	3.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	1 50%	0	0	1 50%	2	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	0	1 50%	2	3.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	0	1 50%	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	0	1 50%	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	0	1 50%	2	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	0	1 50%	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 50%	0	0	1 50%	2	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CJUS	S - 2301	- 030		Survey Comparisons			
L	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	1 50%	0	1 50%	0	2	3.0	218	4.2	20
q	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	338	4.3	22

Course:	CJUS - 2600 030 - Diversity Issues in Criminal Justice	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	10 / 16 (62.50%)

^	Forbutton Occations			J	ohn Coler	nan		
Cou	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 10%	0	0	5 50%	4 40%	10	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	0	5 50%	4 40%	10	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	0	5 50%	4 40%	10	4.1
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	0	4 40%	5 50%	10	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	1 11.1%	4 44.4%	3 33.3%	9	3.9
Q7	My instructor establishes a climate of respect for students.	1 10%	0	0	4 40%	5 50%	10	4.2
Q8	My instructor is available to me on matters pertaining to the course.	1 10%	0	0	4 40%	5 50%	10	4.2
Q9	My instructor encourages me to do my best work.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 10%	0	0	4 40%	5 50%	10	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	0	3 30%	6 60%	10	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	0	3 30%	6 60%	10	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 10%	0	0	3 30%	6 60%	10	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	4 40%	5 50%	10	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				C	JUS - 2600	- 030	Survey Comparisons				
			Res	spon	ses (%)		(Course	All		
			D	N	A SA		N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	218	4.2	36
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	338	4.3	29

Course:	CJUS - 3610 030 - Juvenile Justice	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	8 / 22 (36.36%)

C	na Fusivation Overtions				Ralph Y	ates		
Coui	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 50%	4 50%	8	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 50%	4 50%	8	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs	s and Online Learning Questions		De		CJUS - 3		_	Course	Survey Comparisons			
	•	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62	
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	338	4.3	69	

Course:	CJUS - 4200 030 - Criminal Procedure	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	4 / 14 (28.57%)

C	as Fusivation Overtions			Gret	chen H	ackard		
Cour	se Evaluation Questions		Res	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 50%	2 50%	0	4	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 75%	1 25%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	3 75%	1 25%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	2 50%	1 25%	4	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 75%	1 25%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 75%	1 25%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(CJUS - 4	200 - 03	0		Survey Comparisons			
La	Labs and Online Learning Questions		Re	spo	nses (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62	
Q	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	338	4.3	56	

Course:	CJUS - 4500 030 - Administration of Criminal Justice Agencies	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	11 / 29 (37.93%)

				F	ichard Ho	lden		
Cour	se Evaluation Questions			Respons	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 9.1%	0	2 18.2%	2 18.2%	6 54.5%	11	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	0	5 45.5%	5 45.5%	11	4.2
Q7	My instructor establishes a climate of respect for students.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q9	My instructor encourages me to do my best work.	1 9.1%	0	0	5 45.5%	5 45.5%	11	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C	CJUS - 450	00 - 030			Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	218	4.2	75		
Q10	The course topics are organized in a coherent fashion.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	338	4.3	29		

Course:	CJUS - 4700 030 - Research Methods in Criminal Justice	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	8 / 24 (33.33%)

٥	Forbusting Occupiers				Paul Rey	nolds		
Cour	se Evaluation Questions			Respon	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 75%	2 25%	8	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 62.5%	3 37.5%	8	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 50%	4 50%	8	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 50%	4 50%	8	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 50%	4 50%	8	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 4	700 - 030		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)				(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	218	4.2	75	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 42.9%	4 57.1%	7	4.6	338	4.3	66	

Course:	CJUS - 4870 001 - Topics in Criminal Justice	Department:	514100
Responsible Faculty:	Aaron Bartula	Responses / Expected:	4 / 4 (100%)

_				Δ	aron Ba	artula		
Cour	se Evaluation Questions		Re	esponse	es (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 75%	1 25%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 25%	0	1 25%	2 50%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	1 25%	2 50%	4	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 75%	1 25%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 75%	1 25%	4	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				CJUS - 487	70 - 00	1		Survey Comparisons				
La			Re	spo	nses (%)		(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36		
Q	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	338	4.3	22		

Course:	COMM - 4355 030 - Communication Theory	Department:	514120
Responsible Faculty:	Sara Holmes	Responses / Expected:	2 / 9 (22.22%)

Cour	se Evaluation Questions				Sara H	olmes		
Cour	se Evaluation Questions			Respo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	1 50%	0	2	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C	омм -	4355 - 03	0		Survey Comparisons			
Lab	Labs and Online Learning Questions		R	espo	onses (%)			Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56	

Course:	COUN - 5790 040 - Counseling Culturally Diverse Clients	Department:	518000
Responsible Faculty:	Yu-fen Lin	Responses / Expected:	3 / 4 (75%)

Cou	rse Evaluation Questions				Yu-f	en Lin		
Cou	rse evaluation Questions			Res	ponses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C	OUN - 5	5790 - 04	10	Survey Comparisons			
Labs and Online Learning Questions		Responses (%) Course							All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is we	ll integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62
Q16 The course topics are o	ganized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56

Course:	DFST - 1013 020 - Human Development	Department:	518200
Responsible Faculty:	Hannah Mechler	Responses / Expected:	1 / 6 (16.67%)

Cour	se Evaluation Questions					Mechle		
oou.	oc a valuation (4465) (or		F	Resp	onses (%)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				DI	ST	- 1013 - 0	20		Survey Comparisons				
Lab	Labs and Online Learning Questions		Res	pons	ses	(%)	-	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	218	4.2	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92		

Course:	DSCI - 2710 001 - Data Analysis with Spreadsheets	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	1 / 22 (4.55%)

_				7	heodore	Larson		
Cou	se Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 100%	0	0	1	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				D	SCI -	- 2710 - 00	01		Survey Comparisons			
La	Labs and Online Learning Questions		Res	Responses (%)				Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92	

Course:	DSCI - 3710 001 - Business Statistics with Spreadsheets	Department:	516100
Responsible Faculty:	Daniel Friesen	Responses / Expected:	10 / 14 (71.43%)

C	se Evaluation Questions			I	Daniel F	riesen		
Cour	se evaluation questions		F	espons	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	4 40%	5 50%	10	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 30%	7 70%	10	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 50%	5 50%	10	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 20%	2 20%	6 60%	10	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	4 40%	5 50%	10	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 30%	7 70%	10	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	2 20%	7 70%	10	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 50%	5 50%	10	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	4 40%	5 50%	10	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	4 40%	5 50%	10	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				DS	CI - 371	0 - 001		Survey Comparisons					
Lab	Labs and Online Learning Questions		Responses (%)				(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	218	4.2	54		
Q1	The course topics are organized in a coherent fashion.	0	0	1 20%	2 40%	2 40%	5	4.2	338	4.3	32		

Course:	DSCI - 3710 002 - Business Statistics with Spreadsheets	Department:	516100
Responsible Faculty:	Daniel Friesen	Responses / Expected:	16 / 17 (94.12%)

٥	Further Overhier			Dani	el Friese	n		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 6.7%	2 13.3%	3 20%	5 33.3%	4 26.7%	15	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 12.5%	0	2 12.5%	5 31.3%	7 43.8%	16	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	1 6.3%	2 12.5%	6 37.5%	6 37.5%	16	3.9
Q4	My instructor provides material that helps me do well on assignments.	1 6.3%	0	2 12.5%	5 31.3%	8 50%	16	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.7%	0	3 20%	4 26.7%	7 46.7%	15	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	0	4 25%	4 25%	7 43.8%	16	4.0
Q7	My instructor establishes a climate of respect for students.	1 6.3%	0	1 6.3%	3 18.8%	11 68.8%	16	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 6.3%	0	0	4 25%	11 68.8%	16	4.5
Q9	My instructor encourages me to do my best work.	0	0	2 13.3%	3 20%	10 66.7%	15	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 6.3%	1 6.3%	0	5 31.3%	9 56.3%	16	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.3%	0	2 12.5%	4 25%	9 56.3%	16	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 6.3%	0	2 12.5%	4 25%	9 56.3%	16	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 6.3%	0	3 18.8%	3 18.8%	9 56.3%	16	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	3 18.8%	0	3 18.8%	3 18.8%	7 43.8%	16	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					DSCI - 37	10 - 002			Sı	urvey Compariso	ns
Labs and Online Learning Questions		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 7.7%	0	0	5 38.5%	7 53.8%	13	4.3	218	4.2	51
Q1	The course topics are organized in a coherent fashion.	1 7.7%	0	0	5 38.5%	7 53.8%	13	4.3	338	4.3	38

Course:	EDAD - 5300 001 - Introduction to Educational Leadership	Department:	518200
Responsible Faculty:	Jerry Burkett	Responses / Expected:	1 / 17 (5.88%)

Cour	Course Evaluation Questions						tt		
Cour	SE LYaluation Questions		Res	pon	ses	(%)	In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				E	DAD	- 5300 - 0	01		Survey Comparisons				
Lab	and Online Learning Questions	Responses (%) Course					Responses (%) Course				All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	218	4.2	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92		

Course:	EDAD - 5360 020 - Leadership for Social Justice	Department:	518200
Responsible Faculty:	Hannah Mechler	Responses / Expected:	1 / 13 (7.69%)

٥	Fordunting Occasions				Hannah	Mechlei		
Cour	se Evaluation Questions		F	Resp	onses (%)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				EC	DAD	- 5360 - 0	20		Survey Comparisons			
			Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	218	4.2	-	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92	

Course:	EDAD - 5620 001 - Leadership for Student Educational Services	Department:	518200
Responsible Faculty:	Larry Bryant	Responses / Expected:	6 / 12 (50%)

٥	Forbutting Overtices			Ları	ry Bryant			
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					EDAD - 5	620 - 001	Survey Comparisons				
				Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	338	4.3	76

Course:	EDBE - 4490 001 - Teaching ESL EC-12: Instructional Strategies and Resources	Department:	518200
Responsible Faculty:	Uvaldina Janecek	Responses / Expected:	18 / 25 (72%)

Course Fusionation Quantinus				Uvaldina Janecek								
Cour	ourse Evaluation Questions				Responses (%)							
		SD	D	N	Α	SA	N	Mean				
Q1	My instructor explains difficult material clearly.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 5.6%	17 94.4%	18	4.9				
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 5.6%	17 94.4%	18	4.9				
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 5.6%	17 94.4%	18	4.9				
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 5.6%	17 94.4%	18	4.9				
Q9	My instructor encourages me to do my best work.	0	0	0	1 5.6%	17 94.4%	18	4.9				
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 11.1%	16 88.9%	18	4.9				
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 16.7%	15 83.3%	18	4.8				
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			EDBE - 4490 - 001							Survey Comparisons			
Lab	d Online Learning Questions	Responses (%)				C	ourse	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	218	4.2	80		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 9.1%	10 90.9%	11	4.9	338	4.3	82		

Course:	EDBE - 4490 002 - Teaching ESL EC-12: Instructional Strategies and Resources	Department:	518200
Responsible Faculty:	Ana Coca	Responses / Expected:	5 / 23 (21.74%)

Cour	se Evaluation Questions			-	Ana Coo	a		
Cour	SE LYGIUGUOII QUESTIONS		Res	ponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 20%	1 20%	0	1 20%	2 40%	5	3.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	0	2 40%	2 40%	5	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	2 40%	2 40%	5	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	1 20%	3 60%	5	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 40%	0	1 20%	2 40%	5	3.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 20%	2 40%	2 40%	5	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 20%	1 20%	1 20%	1 20%	1 20%	5	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 20%	0	1 20%	3 60%	5	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	and Outline Learning Occasions				DBE - 4490	002	_	Survey Comparisons			
Labs and Online Learning Questions		Responses (%)						Course	All		
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	1 50%	0	2	2.5	338	4.3	7

Course:	EDCI - 5011 001 - Introduction to Classroom Research	Department:	518200
Responsible Faculty:	Ratna Narayan	Responses / Expected:	12 / 13 (92.31%)

Cour	se Evaluation Questions				Ratna	Narayan		
Cour	se Evaluation Questions			Res	ponses (%	·)	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 25%	9 75%	12	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 25%	9 75%	12	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 25%	9 75%	12	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 25%	9 75%	12	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 25%	9 75%	12	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				EDCI	- 50	11 - 0	01	Survey Comparisons			
		Responses (%) Course							All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 100%	0	0	0	0	1	1.0	218	4.2	12
Q16	The course topics are organized in a coherent fashion.	1 100%	0	0	0	0	1	1.0	338	4.3	4

Course:	EDCI - 5016 020 - Stem Literacy Across the Disciplines	Department:	518200
Responsible Faculty:	Paula Mason	Responses / Expected:	12 / 21 (57.14%)

Cour	rse Evaluation Questions			Pa	ula Maso	n		
Coul	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	3 25%	0	2 16.7%	3 25%	4 33.3%	12	3.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 25%	2 16.7%	0	3 25%	4 33.3%	12	3.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	3 25%	0	1 8.3%	4 33.3%	4 33.3%	12	3.5
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	2 16.7%	1 8.3%	4 33.3%	4 33.3%	12	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	2 16.7%	1 8.3%	4 33.3%	4 33.3%	12	3.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 25%	1 8.3%	2 16.7%	3 25%	3 25%	12	3.2
Q7	My instructor establishes a climate of respect for students.	0	0	5 41.7%	4 33.3%	3 25%	12	3.8
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	0	3 25%	4 33.3%	4 33.3%	12	3.8
Q9	My instructor encourages me to do my best work.	0	1 8.3%	5 41.7%	3 25%	3 25%	12	3.7
Q10	My instructor provides timely feedback to guide my progress.	3 25%	0	0	5 41.7%	4 33.3%	12	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 16.7%	7 58.3%	3 25%	12	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	1 8.3%	3 25%	3 25%	4 33.3%	12	3.7
Q13	My instructor encourages me to develop new viewpoints.	1 8.3%	3 25%	2 16.7%	3 25%	3 25%	12	3.3
Q14	My instructor made the subject interesting and motivated me to learn.	3 25%	1 8.3%	1 8.3%	3 25%	4 33.3%	12	3.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				EDO	CI - 5016 -		Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	3 50%	0	0	2 33.3%	1 16.7%	6	2.7	218	4.2	15
q	The course topics are organized in a coherent fashion.	2 22.2%	0	1 11.1%	4 44.4%	2 22.2%	9	3.4	338	4.3	15

Course:	EDCI - 5017 020 - Human Development for Educators	Department:	518200
Responsible Faculty:	Hannah Mechler	Responses / Expected:	4 / 5 (80%)

C	se Evaluation Questions			Han	nah Me	chler		
Cour	se Evaluation Questions		0 0 1 2 1 25% 50% 25% 0 0 0 3 1 75% 25% 0 25% 25% 0 0 1 2 1 0 1 2 1 2 5% 0 1 2 1 2 5% 25% 25% 0 1 2 1 50% 25% 25% 25% 25% 0 0 0 3 1 7 75% 25% 0 0 0 3 1 2 2 25% 25% 0 0 0 3 1 2 2 25% 25% 0 0 0 3 1 7 25% 25% 2 2 2 2 2 2 2 2 2 2 2 2 2 2			In	dividual	
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%		1 25%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0		1 25%	4	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0		1 25%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0			1 25%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0		0		1 25%	4	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	0		1 25%	4	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	0		1 25%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0		1 25%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0			2 50%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0		1 25%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0				1 25%	4	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0		0	1 25%	2 50%	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	3 75%	0	4	3.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EDC	CI - 5017 -	020			S	urvey Compariso	ns
Labs and Online Learning Questions		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 100%	0	3	4.0	218	4.2	36
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	2 66.7%	0	3	3.3	338	4.3	12

Summer 2017 5W1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W1	UNT-Dallas

Course:	EDCI - 5900 020 - Special Problems	Department:	518200
Responsible Faculty:	Gwendolyn Johnson	Responses / Expected:	2 / 5 (40%)

Cour	se Evaluation Questions	Gwendolyn Johnson									
		00	_	_	nses (S			dividual			
		SD	D	N	Α	SA	N	Mean			
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0			
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0			
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	e=3 [.	A] Agre	e=4 [SA]	Strong	ıly Agree=5			

Course:	EDRE - 4450 001 - Reading and Writing, Birth through Grade 6	Department:	518200
Responsible Faculty:	Catherine Stearns	Responses / Expected:	10 / 17 (58.82%)

0	Further Constitute				Catherine	Stearns		
Cour	se Evaluation Questions			Respo	onses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 40%	6 60%	10	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	10 100%	10	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 30%	7 70%	10	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 30%	7 70%	10	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 40%	6 60%	10	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	1 10%	8 80%	10	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 30%	7 70%	10	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					EDRE - 4	1450 - 001			Survey Comparisons				
Labs and Online Learning Questions			R	espo	nses (%	·)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91		
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	338	4.3	56		

Course:	EDRE - 4840 020 - Linguistically Diverse Learners	Department:	518200
Responsible Faculty:	Paula Mason	Responses / Expected:	6 / 25 (24%)

Cour	se Evaluation Questions			Paula Mason						
Cour	se evaluation questions		Re		In	dividual				
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	1 16.7%	1 16.7%	0	4 66.7%	0	6	3.2		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 33.3%	0	3 50%	1 16.7%	6	3.5		
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	1 16.7%	3 50%	1 16.7%	6	3.5		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	1 16.7%	1 16.7%	2 33.3%	1 16.7%	6	3.2		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 33.3%	0	1 16.7%	2 33.3%	1 16.7%	6	3.0		
Q7	My instructor establishes a climate of respect for students.	0	1 16.7%	0	4 66.7%	1 16.7%	6	3.8		
Q8	My instructor is available to me on matters pertaining to the course.	0	1 16.7%	1 16.7%	3 50%	1 16.7%	6	3.7		
Q9	My instructor encourages me to do my best work.	0	1 16.7%	1 16.7%	3 50%	1 16.7%	6	3.7		
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	1 16.7%	0	3 50%	1 16.7%	6	3.3		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 16.7%	1 16.7%	3 50%	1 16.7%	6	3.7		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	2 33.3%	2 33.3%	1 16.7%	6	3.5		
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	2 33.3%	2 33.3%	1 16.7%	6	3.5		
Q14	My instructor made the subject interesting and motivated me to learn.	0	3 50%	0	2 33.3%	1 16.7%	6	3.2		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EDI	RE - 484	0 - 020			Survey Comparisons				
Lab	Labs and Online Learning Questions		Resp	ons	es (%)		(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1!	The section or lab is well integrated into the course structure.	0	1 50%	0	1 50%	0	2	3.0	218	4.2	20		
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	338	4.3	35		

Course:	EDRE - 5070 020 - Literacy Development for English Language Learners	Department:	518200
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	1 / 3 (33.33%)

Cour	se Evaluation Questions			uez				
Ooui	SE LYAILUATION QUESTIONS			i -	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			EC	DRE	- 5070 - 0	20		Survey Comparisons				
Lab			Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	218	4.2	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92		

Course:	EDSP - 2310 001 - Introduction to Individuals with Disabilities	Department:	518200
Responsible Faculty:	Larry Bryant	Responses / Expected:	6 / 12 (50%)

Cour	se Evaluation Questions				Larry Br	yant		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					EDSP - 2	310 - 001	Survey Comparisons					
La	bs and Online Learning Questions	Responses (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62	
Q	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	338	4.3	41	

Course:	ENGL - 1313 030 - Computer Assisted College Writing I	Department:	514120
Responsible Faculty:	Lea Young	Responses / Expected:	5 / 9 (55.56%)

Cour	se Evaluation Questions				Lea Y	oung		
Cour	se Evaluation Questions		R	Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 80%	1 20%	5	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	2 40%	2 40%	5	4.2
Q9	My instructor encourages me to do my best work.	0	0	2 40%	1 20%	2 40%	5	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	2 40%	2 40%	5	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 40%	1 20%	2 40%	5	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ENGL - 13	13 - 030		Survey Comparisons				
Lab	Labs and Online Learning Questions		R	espo	onses (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1!	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56	

Course:	ENGL - 1323 030 - Computer Assisted College Writing II	Department:	514120
Responsible Faculty:	Robert Harris	Responses / Expected:	7 / 15 (46.67%)

٥	se Evaluation Questions				Robert H	larris		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EN	NGL	- 1323 - 0	30		Survey Comparisons				
La	Labs and Online Learning Questions		Res	pons	ses	(%)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	5 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	218	4.2	91		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	338	4.3	92		

Course:	ENGL - 2220 030 - Survey of World Literatures from 1700 to the Present	Department:	514120
Responsible Faculty:	Robert Harris	Responses / Expected:	3 / 9 (33.33%)

Cour	se Evaluation Questions				Rol	ert Harri	s	
Cour	SE EVALUATION QUESTIONS		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EN	NGL	- 2220 - 0	30		Survey Comparisons				
L	Labs and Online Learning Questions		Res	pons	ses	(%)	(Course					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	338	4.3	92		

Summer 2017 5W1 Survey 6173 - Summer 2017 - 5W1

University of North Texas at Dallas UNT-Dallas

Course:	FINA - 3770 010 - Finance	Department:	516100
Responsible Faculty:	David Wozniak	Responses / Expected:	19 / 40 (47.50%)

_				Dav	id Woznia	ak		
Coui	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5.3%	1 5.3%	3 15.8%	8 42.1%	6 31.6%	19	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	3 15.8%	1 5.3%	5 26.3%	10 52.6%	19	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 10.5%	7 36.8%	10 52.6%	19	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	2 10.5%	3 15.8%	4 21.1%	10 52.6%	19	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 10.5%	2 10.5%	6 31.6%	9 47.4%	19	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 5.3%	4 21.1%	4 21.1%	10 52.6%	19	4.2
Q7	My instructor establishes a climate of respect for students.	0	1 5.3%	0	6 31.6%	12 63.2%	19	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 5.3%	1 5.3%	1 5.3%	5 26.3%	11 57.9%	19	4.3
Q9	My instructor encourages me to do my best work.	0	1 5.3%	2 10.5%	6 31.6%	10 52.6%	19	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 5.3%	3 15.8%	2 10.5%	4 21.1%	9 47.4%	19	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	9 47.4%	10 52.6%	19	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 5.3%	0	10 52.6%	8 42.1%	19	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 5.3%	4 21.1%	5 26.3%	9 47.4%	19	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 11.1%	4 22.2%	4 22.2%	8 44.4%	18	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				FIN	A - 3770 -		Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
c	The section or lab is well integrated into the course structure.	0	1 8.3%	2 16.7%	3 25%	6 50%	12	4.2	218	4.2	50
C	The course topics are organized in a coherent fashion.	0	1 6.7%	2 13.3%	4 26.7%	8 53.3%	15	4.3	338	4.3	37

Course:	FINA - 4300 010 - Financial Statement Analysis and Liquidity Management	Department:	516100
Responsible Faculty:	David Wozniak	Responses / Expected:	8 / 22 (36.36%)

	Forbutting Overtices			David	d Woznia	k		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 25%	2 25%	3 37.5%	1 12.5%	8	3.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 25%	2 25%	3 37.5%	1 12.5%	8	3.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 12.5%	1 12.5%	4 50%	2 25%	8	3.9
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	4 50%	2 25%	8	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 12.5%	3 37.5%	3 37.5%	1 12.5%	8	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 25%	0	4 50%	2 25%	8	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	4 50%	2 25%	8	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	2 25%	0	4 50%	2 25%	8	3.8
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	1 12.5%	5 62.5%	1 12.5%	8	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 12.5%	0	5 62.5%	2 25%	8	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 37.5%	4 50%	1 12.5%	8	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	1 12.5%	1 12.5%	4 50%	1 12.5%	8	3.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			FINA - 4		Survey Comparisons					
Labs and Online Learning Questions	Responses (%)							All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 16.7%	0	2 33.3%	3 50%	0	6	3.2	218	4.2	22
Q16 The course topics are organized in a coherent fashion.	1 12.5%	1 12.5%	1 12.5%	4 50%	1 12.5%	8	3.4	338	4.3	14

Course:	GEOG - 1710 031 - Earth Science	Department:	514000
Responsible Faculty:	Donna Hamilton	Responses / Expected:	2 / 9 (22.22%)

Cou	se Evaluation Questions		Doo	Don: ponses	na Hamil	ton	In	dividual
		SD	D	N	(%) A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 50%	0	1 50%	0	2	3.0
Q4	My instructor provides material that helps me do well on assignments.	0	1 50%	0	1 50%	0	2	3.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 50%	0	1 50%	0	2	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	1 50%	0	2	2.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5
Q8	My instructor is available to me on matters pertaining to the course.	0	1 50%	0	1 50%	0	2	3.0
Q9	My instructor encourages me to do my best work.	0	1 50%	0	1 50%	0	2	3.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	1 50%	0	2	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 50%	0	0	1 50%	0	2	2.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 50%	0	1 50%	0	2	3.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 50%	0	1 50%	0	2	3.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 50%	0	1 50%	0	2	3.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Lab	s and Online Learning Questions		Resi		OG - 17 es (%)	10 - 03	_	Course	Survey Comparisons			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 50%	0	0	1 50%	0	2	2.5	218	4.2	14	
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	1 50%	0	2	2.5	338	4.3	7	

Course:	GEOG - 1710 331 - Earth Science	Department:	514000
Responsible Faculty:	Donna Hamilton	Responses / Expected:	4 / 9 (44.44%)

٥	Further Overhiller			Don	na Ham	ilton		
Cour	se Evaluation Questions		Res	ponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 25%	0	2 50%	1 25%	0	4	2.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	1 25%	1 25%	1 25%	4	3.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	3 75%	0	4	3.3
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	0	3 75%	0	4	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	1 25%	2 50%	0	4	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	1 25%	2 50%	0	4	3.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	3 75%	0	4	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 50%	2 50%	0	4	3.5
Q9	My instructor encourages me to do my best work.	0	0	3 75%	1 25%	0	4	3.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	1 25%	2 50%	0	4	3.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	3 75%	0	4	3.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 25%	0	3 75%	0	4	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	1 25%	1 25%	2 50%	0	4	3.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 25%	0	3 75%	0	4	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

La	os and Online Learning Questions	GEOG - 1710 - 331 Responses (%) Cours							Survey Comparisons			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	1 25%	0	0	3 75%	0	4	3.3	218	4.2	24	
Q1	The course topics are organized in a coherent fashion.	1 25%	0	0	3 75%	0	4	3.3	338	4.3	9	

Course:	HSML - 3000 040 - Human Service in the Nonprofit Sector	Department:	518000
Responsible Faculty:	Keilah Jacques	Responses / Expected:	10 / 26 (38.46%)

Cour	se Evaluation Questions			Kei	ah Jac	ques		
Cour	se Evaluation Questions		Res	ponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 20%	2 20%	2 20%	3 30%	1 10%	10	2.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 20%	2 20%	1 10%	4 40%	1 10%	10	3.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	3 30%	1 10%	3 30%	2 20%	10	3.2
Q4	My instructor provides material that helps me do well on assignments.	3 30%	3 30%	1 10%	1 10%	2 20%	10	2.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 30%	1 10%	2 20%	3 30%	1 10%	10	2.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 30%	2 20%	0	4 40%	1 10%	10	2.8
Q7	My instructor establishes a climate of respect for students.	2 20%	1 10%	2 20%	3 30%	2 20%	10	3.2
Q8	My instructor is available to me on matters pertaining to the course.	1 10%	3 30%	2 20%	3 30%	1 10%	10	3.0
Q9	My instructor encourages me to do my best work.	1 10%	2 20%	0	6 60%	1 10%	10	3.4
Q10	My instructor provides timely feedback to guide my progress.	2 20%	3 30%	2 20%	2 20%	1 10%	10	2.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	3 30%	5 50%	1 10%	10	3.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	3 30%	5 50%	1 10%	10	3.5
Q13	My instructor encourages me to develop new viewpoints.	1 10%	2 20%	2 20%	4 40%	1 10%	10	3.2
Q14	My instructor made the subject interesting and motivated me to learn.	4 40%	2 20%	1 10%	2 20%	1 10%	10	2.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				HSML -	Survey Comparisons							
Lab	Labs and Online Learning Questions		Re	sponses	(%)		C	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	2 25%	2 25%	1 12.5%	1 12.5%	2 25%	8	2.9	218	4.2	17	
Q16	The course topics are organized in a coherent fashion.	4 44.4%	2 22.2%	0	1 11.1%	2 22.2%	9	2.4	338	4.3	5	

Course:	HSML - 4900 040 - Special Problems	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	4 / 8 (50%)

0	Fordunting Occasions				Joy Pa	atton		
Cour	se Evaluation Questions		F	Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	1 25%	2 50%	4	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					HSML - 49	900 - 04		Survey Comparisons			
Labs	Labs and Online Learning Questions		R	espo	onses (%)		(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	338	4.3	56

Course:	LING - 2050 020 - The Language of Now : Pop Culture, Technology, and Society	Department:	518200
Responsible Faculty:	Marco Shappeck	Responses / Expected:	12 / 17 (70.59%)

C	as Fusiontian Overtions				Marco S	happeck		
Cour	se Evaluation Questions		R	espo	onses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q7	My instructor establishes a climate of respect for students.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q9	My instructor encourages me to do my best work.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q13	My instructor encourages me to develop new viewpoints.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			L	ING - 2050	020	Survey Comparisons				
Labs			Responses (%)						All		
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	218	4.2	47
Q16	The course topics are organized in a coherent fashion.	1 10%	0	0	4 40%	5 50%	10	4.2	338	4.3	32

Summer 2017 5W1 Survey 6173 - Summer 2017 - 5W1

University of North Texas at Dallas UNT-Dallas

Course:	MATH - 1100 031 - Algebra	Department:	514160
Responsible Faculty:	Noureen Khan	Responses / Expected:	3 / 10 (30%)

۰	as Fusivation Overtions				Noureen	Khan		
Cour	se Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				MATH - 1	100 - 031	Survey Comparisons				
Lab				Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	218	4.2	75
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	338	4.3	41

Course:	MGMT - 3830 001 - Operations Management	Department:	516100
Responsible Faculty:	Gerald Lemons	Responses / Expected:	33 / 41 (80.49%)

٥					Gerald L	emons		
Coui	rse Evaluation Questions		F	lespo	nses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 3%	0	0	6 18.2%	26 78.8%	33	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 3%	0	0	3 9.1%	29 87.9%	33	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 3%	0	1 3%	4 12.1%	27 81.8%	33	4.7
Q4	My instructor provides material that helps me do well on assignments.	1 3.1%	0	0	3 9.4%	28 87.5%	32	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 3.2%	0	0	3 9.7%	27 87.1%	31	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3%	0	1 3%	4 12.1%	27 81.8%	33	4.7
Q7	My instructor establishes a climate of respect for students.	1 3.1%	0	0	4 12.5%	27 84.4%	32	4.8
Q8	My instructor is available to me on matters pertaining to the course.	1 3%	0	0	7 21.2%	25 75.8%	33	4.7
Q9	My instructor encourages me to do my best work.	1 3%	0	0	6 18.2%	26 78.8%	33	4.7
Q10	My instructor provides timely feedback to guide my progress.	1 3%	0	0	8 24.2%	24 72.7%	33	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3%	0	0	3 9.1%	29 87.9%	33	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3%	0	0	5 15.2%	27 81.8%	33	4.7
Q13	My instructor encourages me to develop new viewpoints.	1 3%	0	0	7 21.2%	25 75.8%	33	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 3%	0	0	4 12.1%	28 84.8%	33	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			-	MGMT - 3	830 - 001		Survey Comparisons				
Lab			Responses (%)						All			
		SD	D N A SA N		Mean	N	Mean	Pct Rnk				
Q15	The section or lab is well integrated into the course structure.	1 20%	0	0	1 20%	3 60%	5	4.0	218	4.2	36	
Q16	The course topics are organized in a coherent fashion.	1 5.3%	0	0	3 15.8%	15 78.9%	19	4.6	338	4.3	73	

Course:	MGMT - 3860 012 - Human Resource Management	Department:	516100
Responsible Faculty:	Steve Tidwell	Responses / Expected:	4 / 12 (33.33%)

Cour	se Evaluation Questions				Steve T	idwell		
Cour							In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 50%	1 25%	1 25%	4	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	2 50%	1 25%	4	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 50%	1 25%	1 25%	4	3.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50%	1 25%	4	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	2 50%	1 25%	4	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 50%	1 25%	1 25%	4	3.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			MG	MT - 38	60 - 012		Survey Comparisons			
		Responses (%)				(Course	All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 25%	2 50%	1 25%	4	4.0	218	4.2	36
Q16 The course topics are organized in a coherent fashion.	0	0	1 25%	2 50%	1 25%	4	4.0	338	4.3	22

Course:	MGMT - 4470 011 - Leadership	Department:	516100
Responsible Faculty:	Chemene Crawford	Responses / Expected:	2 / 16 (12.50%)

Cour	se Evaluation Questions		Da-				ene Crawford (%) Individual			
		SD	Res D	N	ses	(%) SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0		
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			MGMT - 4470 - 011							Survey Comparisons				
Labs and Online Learning Questions		Responses				(%)	(Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	338	4.3	92			

Course:	PLDR - 5355 030 - Leadership in the Administrative State	Department:	514240
Responsible Faculty:	Benjamin Leamon	Responses / Expected:	3 / 14 (21.43%)

٥	Production Occupion			Benj	amin Lea	mon		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 66.7%	0	0	1 33.3%	3	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	3 100%	0	3	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	2 66.7%	0	1 33.3%	0	3	2.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PLDR - 53	55 - 030)		Survey Comparisons				
Lab	Labs and Online Learning Questions		R	espo	onses (%)		(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36		
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56		

Course:	PSCI - 1040 030 - American Government: Laws and Institutions	Department:	514000
Responsible Faculty:	Ronald Hy	Responses / Expected:	7 / 29 (24.14%)

	Further the Occasion				Ronald	Ну		
Cour	se Evaluation Questions			Respon	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 57.1%	3 42.9%	7	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q9	My instructor encourages me to do my best work.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PSCI - 1	040 - 03	0		Survey Comparisons			
La	os and Online Learning Questions		Re	spo	nses (%))	(Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	218	4.2	80	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	338	4.3	56	

Course:	PSYC - 3000 030 - Positive Psychology	Department:	514200
Responsible Faculty:	Mario Casa de Calvo	Responses / Expected:	19 / 30 (63.33%)

	Forbutton Occations			Mari	o Casa de	Calvo		
Cou	rse Evaluation Questions			Response	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 5.3%	2 10.5%	16 84.2%	19	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5.3%	1 5.3%	17 89.5%	19	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 10.5%	17 89.5%	19	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 10.5%	1 5.3%	16 84.2%	19	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 5.3%	2 10.5%	16 84.2%	19	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 5.3%	0	2 10.5%	16 84.2%	19	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 10.5%	17 89.5%	19	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5.3%	2 10.5%	16 84.2%	19	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PSYC -	3000 - 030		Survey Comparisons			
Lab	s and Online Learning Questions	Responses (%)						ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	9 100%	9	5.0	218	4.2	91
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 6.7%	14 93.3%	15	4.9	338	4.3	83

Course:	PSYC - 3210 030 - Statistics in Psychology	Department:	514200
Responsible Faculty:	Mario Casa de Calvo	Responses / Expected:	24 / 30 (80%)

^	Forbutton Occations			Mari	o Casa de	Calvo		
Cour	se Evaluation Questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 4.2%	1 4.2%	13 54.2%	9 37.5%	24	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 12.5%	8 33.3%	13 54.2%	24	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 8.3%	10 41.7%	12 50%	24	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 12.5%	11 45.8%	10 41.7%	24	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	6 25%	9 37.5%	9 37.5%	24	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 4.2%	6 25%	8 33.3%	9 37.5%	24	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	10 41.7%	14 58.3%	24	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	8 33.3%	16 66.7%	24	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	8 33.3%	16 66.7%	24	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 12.5%	9 37.5%	12 50%	24	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 8.3%	9 37.5%	13 54.2%	24	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 12.5%	11 45.8%	10 41.7%	24	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 16.7%	12 50%	8 33.3%	24	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 13%	11 47.8%	9 39.1%	23	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				PS\	/C - 3210 -		Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)							All	
s		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
C	The section or lab is well integrated into the course structure.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3	218	4.2	53
C	The course topics are organized in a coherent fashion.	0	1 5.3%	1 5.3%	5 26.3%	12 63.2%	19	4.5	338	4.3	46

Course	PSYC - 3620 030 - Developmental Psychology	Department:	514200
Responsible Faculty:	Priya Eimerbrink	Responses / Expected:	3 / 17 (17.65%)

٥	Full stire Occasion			Pr	iya E	imerbrinl	(
Cour	se Evaluation Questions	R	esp	ons	es (%	6)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	0	0	2 66.7%	3	3.7
Q13	My instructor encourages me to develop new viewpoints.	1 33.3%	0	0	0	2 66.7%	3	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	0	0	2 66.7%	3	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PSYC - 36	20 - 030)		Survey Comparisons			
La	Labs and Online Learning Questions		R	espo	onses (%)			Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	218	4.2	36	
Q	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56	

Course:	PSYC - 4470 030 - Sexual Behavior	Department:	514200
Responsible Faculty:	Elizabeth Casadecalvo	Responses / Expected:	9 / 28 (32.14%)

C	Traduction Organisms			Eliz	abeth Cas	sadecalvo)	
Coul	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	0	8 88.9%	9	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PSYC - 4	470 - 030	Survey Comparisons					
Lal	Labs and Online Learning Questions			Res	ponses (%))	Course			All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	218	4.2	71	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	338	4.3	76	

Course:	PSYC - 4600 030 - History and Systems	Department:	514200
Responsible Faculty:	Priya Eimerbrink	Responses / Expected:	8 / 19 (42.11%)

٥	as Fusiontian Aventions			ı	Priya Eim	erbrink		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	2 25%	4 50%	8	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				P	SYC - 4600	Survey Comparisons					
Lal	Labs and Online Learning Questions		Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 25%	2 50%	1 25%	4	4.0	218	4.2	36
Q1	The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	338	4.3	43

Course:	SOCI - 1510 030 - Introduction to Sociology	Department:	514200
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	8 / 21 (38.10%)

٥	Forbutton Occations			Syed	la Jesmii	n		
Coui	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 50%	4 50%	8	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q9	My instructor encourages me to do my best work.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 25%	2 25%	4 50%	8	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	1 12.5%	0	3 37.5%	3 37.5%	8	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					SOCI - 1	510 - 030		Survey Comparisons					
La	Labs and Online Learning Questions			Res	ponses (%))	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q.	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	218	4.2	91		
Q.	The course topics are organized in a coherent fashion.	0	0	0	4 57.1%	3 42.9%	7	4.4	338	4.3	43		

Course:	SOCI - 2100 030 - Crime and Justice in the United States	Department:	514200
Responsible Faculty:	Nahid Siddique	Responses / Expected:	2 / 6 (33.33%)

٥	na Fugluation Quantinus				Nahid	Siddique	,	
Cour	se Evaluation Questions		R	espo	nses (%	6)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				;	SOCI - 2	100 - 03	0		Survey Comparisons			
Lab	Labs and Online Learning Questions		Re	spo	nses (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	338	4.3	56	

Course:	SOCI - 3110 030 - Sociology of Mental Health, Mental Illness and Mental Health	Department:	514200
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	6 / 27 (22.22%)

٥	Productive Occasions			s	yeda Jes	min		
Cour	se Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				OCI - 3110	030 - 030	_	Survey Comparisons				
Lab			Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 100%	0	3	4.0	218	4.2	36	
Q16	The course topics are organized in a coherent fashion.	0	0	1 20%	3 60%	1 20%	5	4.0	338	4.3	22	

Course:	SOCI - 3220 030 - Quantitative Data Collection	Department:	514200
Responsible Faculty:	Aaron Bartula	Responses / Expected:	5 / 28 (17.86%)

Cour	se Evaluation Questions			Bartula				
	· · · · · · · · · · · · · · · · · · ·			•	ıses (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 60%	2 40%	5	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			;	SOCI - 3	220 - 03	0		Survey Comparisons				
La			Re	spo	nses (%))	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q ²	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	218	4.2	62		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	338	4.3	80		

Course:	SOCI - 3240 030 - Qualitative Data Collection	Department:	514200
Responsible Faculty:	Adrian Tan	Responses / Expected:	1 / 1 (100%)

_					Adri	Adrian Tan				
Cour	se Evaluation Questions		F	esp	onses (%)	ln	dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0		
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			Res			- 3240 - 0:		Survey Comparisons			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	218	4.2	91
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	338	4.3	92

Summer 2017 5W1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W1	UNT-Dallas

Course:	SOCI - 4260 001 - Topics in Sociology	Department:	514200
Responsible Faculty:	Aaron Bartula	Responses / Expected:	2 / 5 (40%)

Cour	se Evaluation Questions					n Bartula					
			_	Respons				dividual			
		SD	D	N	Α	SA	N	Mean			
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5			
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	0	1 50%	2	4.0			
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agre	e or Di	sagr	ee=3 [A]	Agree=	4 [SA] 5	Strong	ıly Agree=5			

Course:	SOCI - 4600 030 - Sociology of Mass Communication	Department:	514200
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	7 / 18 (38.89%)

Corr	se Evaluation Questions			Iftekhar Amin								
Coul	se Evaluation Questions			Response	s (%)		In	dividual				
		SD	D	N	Α	SA	N	Mean				
Q1	My instructor explains difficult material clearly.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1				
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 57.1%	3 42.9%	7	4.4				
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 57.1%	3 42.9%	7	4.4				
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 71.4%	2 28.6%	7	4.3				
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 71.4%	2 28.6%	7	4.3				
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1				
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 83.3%	1 16.7%	6	4.2				
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0				
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	4 57.1%	1 14.3%	7	3.9				
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	4 57.1%	1 14.3%	7	3.7				
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 14.3%	1 14.3%	4 57.1%	1 14.3%	7	3.7				
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	1 16.7%	3 50%	1 16.7%	6	3.7				
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2				
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3				

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$

						600 - 030	Survey Comparisons				
Labs and Online Learning Questions				Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	218	4.2	75
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	338	4.3	69

Summer 2017 5W2 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W2	UNT-Dallas

Course:	ACCT - 2020 001 - Accounting Principles II (Managerial Accounting)	Department:	516100
Responsible Faculty:	Ronald Fory	Responses / Expected:	2 / 12 (16.67%)

Com	rse Evaluation Questions				Ronald			
oou.	or Printerior Queensilo			Respon	ses (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	1 50%	0	2	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				,	ACCT - 202	20 - 00)1	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(Course	All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	205	4.4	23	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	276	4.4	23	

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 3120 001 - Intermediate Accounting II	Department:	516100
Responsible Faculty:	Ronald Fory	Responses / Expected:	7 / 21 (33.33%)

Cour	se Evaluation Questions				Ronald Fo	ory		
Cour	se Evaluation Questions			Respons	sponses (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q7	My instructor establishes a climate of respect for students.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q9	My instructor encourages me to do my best work.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ACC	ЭТ -	3120 - 0	01	Survey Comparisons			
Labs and Online Learning Questions		Responses (%)					(Course	All		
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 25%	0	0	0	3 75%	4	4.0	205	4.4	23
Q16	The course topics are organized in a coherent fashion.	1 25%	0	0	0	3 75%	4	4.0	276	4.4	23

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 031 - Environmental Science	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	6 / 12 (50%)

٥	Furthering Occasion			Irene F	Rodriguez	Virgen		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 83.3%	1 16.7%	6	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	0	4 66.7%	1 16.7%	6	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		BIOL - 1132 - 031							Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	205	4.4	37		
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	276	4.4	43		

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2 University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 331 - Environmental Science	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	6 / 12 (50%)

٥	se Evaluation Questions			Irene F	Rodriguez	Virgen		
Cour	se Evaluation Questions		Responses (%)					
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	IOL - 1132	- 331			Si	urvey Compariso	ns
Labs and Online Learning Questions		Responses (%)					(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	205	4.4	37
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	276	4.4	43

Course:	BIOL - 1300 001 - Biology for Non Majors	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	4 / 9 (44.44%)

Cour	se Evaluation Questions				Kelly \	/arga		
Cour	se Evaluation Questions		F	Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	1 25%	2 50%	4	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BIOL	1300	- 001			S	urvey Compariso	ns	
L	Labs and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	2 50%	0	2 50%	0	4	3.0	205	4.4	6	
Q	The course topics are organized in a coherent fashion.	0	1 25%	1 25%	1 25%	1 25%	4	3.5	276	4.4	9	

Course:	BIOL - 1300 301 - Biology for Non Majors	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	4 / 9 (44.44%)

Com	se Evaluation Questions				Kelly \	/arga		
Coul	se Evaluation Questions		F	Respons	es (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	1 25%	2 50%	4	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				вю	L - 1300	- 301			S	urvey Compariso	ns	
Lab	s and Online Learning Questions		R	esponse	es (%)		(Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1!	The section or lab is well integrated into the course structure.	0	0	2 50%	2 50%	0	4	3.5	205	4.4	12	
Q16	The course topics are organized in a coherent fashion.	0	0	1 25%	3 75%	0	4	3.8	276	4.4	15	

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

Course:	BIOL - 3451 001 - Genetics	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	3 / 6 (50%)

Com	se Evaluation Questions			ı	rene Rodr	iguez Virg	jen	
Cour	se Evaluation Questions			Res	ponses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

University of North Texas at Dallas UNT-Dallas

	bs and Online Learning Questions The section or lab is well integrated into the course structure.				BIOL - 34	451 - 001	Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%) Course						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	205	4.4	56
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	276	4.4	76

Course:	BLAW - 3430 001 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	9 / 17 (52.94%)

٥	se Evaluation Questions			:	Sharon Fj	ordbak		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 33.3%	2 22.2%	4 44.4%	9	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		BLAW - 3430 - 001							Survey Comparisons			
Lal	s and Online Learning Questions	Responses (%)			ıses (%)			Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	205	4.4	23	
Q1	The course topics are organized in a coherent fashion.	0	0	1 25%	1 25%	2 50%	4	4.3	276	4.4	40	

Course:	BLAW - 3430 002 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	7 / 18 (38.89%)

٥	Full star Out the				Sharon F	jordbak		
Cour	se Evaluation Questions		Re	espo	nses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		BLAW - 3430 - 002							Survey Comparisons				
Lab	s and Online Learning Questions	Responses					(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1!	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	205	4.4	23		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	276	4.4	58		

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	BUSI - 4940 010 - Business Policy	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	36 / 43 (83.72%)

_					Isaura Flo	res		
Cour	se Evaluation Questions			Respons	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 5.6%	0	3 8.3%	9 25%	22 61.1%	36	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 5.7%	0	2 5.7%	8 22.9%	23 65.7%	35	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 5.6%	0	1 2.8%	7 19.4%	26 72.2%	36	4.5
Q4	My instructor provides material that helps me do well on assignments.	2 5.6%	0	0	9 25%	25 69.4%	36	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 5.6%	0	2 5.6%	12 33.3%	20 55.6%	36	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 5.6%	0	0	10 27.8%	24 66.7%	36	4.5
Q7	My instructor establishes a climate of respect for students.	2 5.6%	0	1 2.8%	8 22.2%	25 69.4%	36	4.5
Q8	My instructor is available to me on matters pertaining to the course.	2 5.6%	0	0	8 22.2%	26 72.2%	36	4.6
Q9	My instructor encourages me to do my best work.	2 5.6%	0	0	9 25%	25 69.4%	36	4.5
Q10	My instructor provides timely feedback to guide my progress.	2 5.7%	0	0	4 11.4%	29 82.9%	35	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 5.6%	0	3 8.3%	6 16.7%	25 69.4%	36	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 5.7%	0	0	9 25.7%	24 68.6%	35	4.5
Q13	My instructor encourages me to develop new viewpoints.	2 5.6%	0	4 11.1%	10 27.8%	20 55.6%	36	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	2 5.6%	0	2 5.6%	10 27.8%	22 61.1%	36	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BUSI - 49	40 - 010	Survey Comparisons					
Lal	s and Online Learning Questions	Responses (%)						ourse		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	1 4.3%	0	0	7 30.4%	15 65.2%	23	4.5	205	4.4	64	
Q1	The course topics are organized in a coherent fashion.	1 3.8%	0	0	7 26.9%	18 69.2%	26	4.6	276	4.4	64	

Course:	CJUS - 3600 030 - Criminology	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	8 / 20 (40%)

Cour	se Evaluation Questions				hid Siddio	que		
Ooui	Se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		CJUS - 3600 - 030							Survey Comparisons					
Lab	s and Online Learning Questions	Responses (%		Responses (%)			C	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1!	The section or lab is well integrated into the course structure.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	205	4.4	23			
Q16	The course topics are organized in a coherent fashion.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	276	4.4	35			

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

Course: CJUS - 4870 030 - Topics in Criminal Justice

Responsible Faculty: Paul Reynolds

Department:	514100

12 / 20 (60%)

Responses / Expected:

University of North Texas at Dallas

UNT-Dallas

Com	rse Evaluation Questions			F	Paul Reyn	olds		
Cou	ise Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 25%	9 75%	12	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 25%	9 75%	12	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	1 8.3%	0	3 25%	8 66.7%	12	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		CJUS - 4870 - 030							Survey Comparisons					
La	Labs and Online Learning Questions		Responses (%)					ourse	All					
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk			
Q ²	The section or lab is well integrated into the course structure.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	205	4.4	68			
Q1	The course topics are organized in a coherent fashion.	0	1 9.1%	0	1 9.1%	9 81.8%	11	4.6	276	4.4	69			

Course:	CJUS - 4901 030 - Senior Seminar: Criminal Justice and Public Policy	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	8 / 18 (44.44%)

٥	Furbustion Occasions				Richard F	lolden		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 25%	2 25%	4 50%	8	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 25%	2 25%	4 50%	8	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		CJUS - 4901 - 030							Survey Comparisons					
Lal	s and Online Learning Questions	Responses ((Course	All					
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	205	4.4	71			
Q1	The course topics are organized in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	276	4.4	23			

Course:	COMM - 1010 031 - Introduction to Communication	Department:	514120
Responsible Faculty:	Sara Holmes	Responses / Expected:	2 / 17 (11.76%)

Cour	se Evaluation Questions				Sara H	a Holmes					
Cour	se Evaluation Questions		Re	spo	nses (%)		In	dividual			
		SD	D	N	Α	SA	N	Mean			
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0			
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0			
Q9	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		COMM - 1010 - 031							Survey Comparisons			
Labs	and Online Learning Questions	Responses (%) Course						All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	205	4.4	56	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	276	4.4	58	

Course:	COUN - 5610 040 - Addiction Counseling	Department:	518000
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	8 / 15 (53.33%)

Cou	se Evaluation Questions				hillip Orti	iz		
				Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 12.5%	1 12.5%	1 12.5%	5 62.5%	8	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		COUN - 5610 - 040			S	urvey Compariso	ns				
Lal	s and Online Learning Questions		Responses (%)		(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	205	4.4	47
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	276	4.4	48

Course:	ECON - 1100 001 - Principles of Microeconomics	Department:	516100
Responsible Faculty:	Michael Lansing	Responses / Expected:	4 / 10 (40%)

Com	se Evaluation Questions				Michae	el Lansing		
Cour	se Evaluation Questions			Res	ponses (%	·)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	ECON - 1100 - 001			Survey Comparisons								
L	Labs and Online Learning Questions		Responses (%)		Responses (%) Course				Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	205	4.4	95	
C	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	276	4.4	96	

Course:	ECON - 1110 001 - Principles of Macroeconomics	Department:	516100
Responsible Faculty:	Michael Lansing	Responses / Expected:	4 / 9 (44.44%)

	Production Occupion			ı	Michael	Lansin	g	
Cour	se Evaluation Questions		Res	pon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 25%	0	0	2 50%	1 25%	4	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	0	1 25%	2 50%	4	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	2 50%	1 25%	4	3.5
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	0	2 50%	1 25%	4	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	1 25%	2 50%	4	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	2 50%	1 25%	4	3.5
Q7	My instructor establishes a climate of respect for students.	1 25%	0	0	0	3 75%	4	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0	0	0	3 75%	4	4.0
Q9	My instructor encourages me to do my best work.	1 25%	0	0	0	3 75%	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	0	3 75%	4	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	0	3 75%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	0	3 75%	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	0	3 75%	4	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	1 25%	2 50%	4	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		ECON - 1110 - 001					Survey Comparisons				
Lal	s and Online Learning Questions		Responses (%)		Responses (%) Course				All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	205	4.4	56
Q1	The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	276	4.4	13

Course:	EDAD - 5680 020 - Leadership of the K-12 Curriculum	Department:	518200
Responsible Faculty:	Jerry Burkett	Responses / Expected:	5 / 14 (35.71%)

٥	se Evaluation Questions				Jerry	Burkett		
Cour	se Evaluation Questions		R	espo	onses (9	6)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		EDAD - 5680 - 020							Survey Comparisons			
L	abs and Online Learning Questions		Responses (%)		esponses (%) Course			All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	205	4.4	95	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	276	4.4	96	

Summer 2017 5W2 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W2	UNT-Dallas

Course:	EDBE - 3480 001 - Bilingualism and Multiculturism for English Language Learnin	Department:	518200
Responsible Faculty:	Carol Jackson	Responses / Expected:	3 / 8 (37.50%)

or explains difficult material clearly. or provides facts, examples, and references that helped me learn the material. or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	SD 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	D 0 0 0 0 0 0 0	N 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1 33.3% 0 1 33.3% 1 33.3% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	2 66.7% 2 66.7% 3 100% 2 66.7%	3 3 3 3	4.7 4.7 5.0 4.7
or provides facts, examples, and references that helped me learn the material. or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	0 0 0 0 0	0 0 0 0	0 0 0 0 0	1 33.3% 1 33.3% 0 1 33.3% 1 33.3%	2 66.7% 2 66.7% 3 100% 2 66.7%	3 3 3	4.7 4.7 5.0 4.7
or provides facts, examples, and references that helped me learn the material. or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	0 0 0 0	0 0 0	0 0 0	33.3% 1 33.3% 0 1 33.3% 1 33.3%	66.7% 2 66.7% 3 100% 2 66.7% 2 66.7%	3 3	4.7 5.0 4.7
or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	0 0 0 0	0 0	0 0	33.3% 0 1 33.3% 1 33.3%	66.7% 3 100% 2 66.7% 2 66.7%	3	5.0
or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	0 0	0	0	1 33.3% 1 33.3%	100% 2 66.7% 2 66.7%	3	4.7
or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	0	0	0	33.3% 1 33.3%	66.7% 2 66.7%		
or evaluates my work in ways that are helpful to my ability to learn.	0			33.3%	66.7%	3	4.7
		0	0	0	_	1 1	
ar actablishes a climate of respect for students	_				3 100%	3	5.0
or establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3
or is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
or encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
or provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
or creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0	2 66.7%	3	4.3
or encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
or encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
			0	1 33.3%	2 66.7%	3	4.7
	or creates an atmosphere in which ideas can be exchanged freely. or encourages me to connect course topics to a wider understanding of the subject. or encourages me to develop new viewpoints.	or encourages me to connect course topics to a wider understanding of the subject. 0 or encourages me to develop new viewpoints. 0	or encourages me to connect course topics to a wider understanding of the subject. 0 0	or encourages me to connect course topics to a wider understanding of the subject. 0 0 0 or encourages me to develop new viewpoints. 0 0 0	or encourages me to connect course topics to a wider understanding of the subject. 0 0 0 1 33.3% or encourages me to develop new viewpoints. 0 0 0 1 33.3%	or creates an atmosphere in which ideas can be exchanged freely. or encourages me to connect course topics to a wider understanding of the subject. or encourages me to develop new viewpoints. or encourages me to develop new viewpoints.	or creates an atmosphere in which ideas can be exchanged freely. or encourages me to connect course topics to a wider understanding of the subject. or encourages me to develop new viewpoints. or encourages me to develop new viewpoints.

Course:	EDCI - 5013 020 - Technology in STEM	Department:	518200
Responsible Faculty:	Nicholas Keith	Responses / Expected:	9 / 22 (40.91%)

Cour	se Evaluation Questions				Nichol	as Keith		
Cour	se Evaluation Questions			Res	onses (%)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	8 100%	8	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	8 100%	8	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	8 100%	8	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	8 100%	8	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	8 100%	8	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	8 100%	8	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	9 100%	9	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	9 100%	9	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	9 100%	9	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				El	DCI -	- 5013 - 02	20		S	urvey Compariso	1s	
La	bs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	205	4.4	95	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	276	4.4	96	

Course:	EDCI - 5015 001 - Action Research for Multicultural and Multilingual Education	Department:	518200
Responsible Faculty:	Uvaldina Janecek	Responses / Expected:	7 / 12 (58.33%)

Cour	rse Evaluation Questions			Uvaldi	na Janec	ek		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 14.3%	2 28.6%	3 42.9%	1 14.3%	7	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 28.6%	1 14.3%	3 42.9%	1 14.3%	7	3.4
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	3 42.9%	1 14.3%	2 28.6%	7	3.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	0	4 57.1%	2 28.6%	7	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 28.6%	4 57.1%	1 14.3%	7	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	1 14.3%	1 14.3%	1 14.3%	3 42.9%	7	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					EDCI - 50)15 - 001			Sı	urvey Compariso	ns
Lal	os and Online Learning Questions Responses (%))	(Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	205	4.4	47
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	276	4.4	48

Course:	EDEE - 2210 003 - Social Studies and Science Curriculum Grades EC-6	Department:	518200
Responsible Faculty:	Christine Pruitt	Responses / Expected:	5 / 10 (50%)

Cour	se Evaluation Questions					ne Prui		
					nses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \textbf{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \textbf{Disagree=2} \ \ [\textbf{N}] \ \ \textbf{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \textbf{Agree=4} \ \ [\textbf{SA}] \ \ \textbf{Strongly Agree=5} \ \ \textbf{Sagree=4} \ \ \textbf{Sagree=4}$

					DEE - 2210	- 003			S	urvey Compariso	ns
Lai	s and Online Learning Questions		Res	pon	ses (%)		(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	205	4.4	23
Q1	The course topics are organized in a coherent fashion.	1 50%	0	0	1 50%	0	2	2.5	276	4.4	3

Course:	EDRE - 4840 001 - Linguistically Diverse Learners	Department:	518200
Responsible Faculty:	Carol Jackson	Responses / Expected:	10 / 23 (43.48%)

Cour	se Evaluation Questions				Carol	Jackson		
Coui	SE LYaluation Questions		R	espo	onses (9	6)	Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 10%	9 90%	10	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 10%	9 90%	10	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	10 100%	10	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	10 100%	10	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	10 100%	10	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	10 100%	10	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	10 100%	10	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	9 100%	9	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 10%	9 90%	10	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EDF	RE -	4840 - 0	01		Survey Comparisons				
Lab	and Online Learning Questions	Responses (%)					(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	205	4.4	-		
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	0	1 50%	2	3.0	276	4.4	5		

Course:	EDRE - 4850 020 - Assessment and Evaluation of Reading	Department:	518200
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	17 / 40 (42.50%)

C	Traduction Organisms			Cynthi	a Rodrigu	iez		
Coui	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	3 17.6%	3 17.6%	5 29.4%	6 35.3%	17	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 11.8%	2 11.8%	4 23.5%	9 52.9%	17	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 5.9%	3 17.6%	3 17.6%	10 58.8%	17	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 5.9%	4 23.5%	3 17.6%	9 52.9%	17	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 11.8%	3 17.6%	5 29.4%	7 41.2%	17	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 11.8%	1 5.9%	2 11.8%	4 23.5%	8 47.1%	17	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	4 23.5%	2 11.8%	11 64.7%	17	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	1 5.9%	2 11.8%	4 23.5%	10 58.8%	17	4.4
Q9	My instructor encourages me to do my best work.	0	1 5.9%	3 17.6%	3 17.6%	10 58.8%	17	4.3
Q10	My instructor provides timely feedback to guide my progress.	2 11.8%	1 5.9%	4 23.5%	3 17.6%	7 41.2%	17	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 11.8%	5 29.4%	10 58.8%	17	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 17.6%	3 17.6%	11 64.7%	17	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	1 5.9%	3 17.6%	3 17.6%	10 58.8%	17	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.9%	2 11.8%	1 5.9%	5 29.4%	8 47.1%	17	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				EDRE -	4850 - 02		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1	205	4.4	34
Q1	The course topics are organized in a coherent fashion.	1 8.3%	1 8.3%	0	4 33.3%	6 50%	12	4.1	276	4.4	32

Course:	EDUC - 3320 020 - Foundations of Education	Department:	518200
Responsible Faculty:	Yolanda Graham	Responses / Expected:	15 / 36 (41.67%)

٥	Further the Occasion			Yol	anda Gra	ham		
Cour	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 6.7%	0	3 20%	11 73.3%	15	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 6.7%	0	3 20%	11 73.3%	15	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 6.7%	0	3 20%	11 73.3%	15	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 6.7%	0	4 26.7%	10 66.7%	15	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.7%	0	1 6.7%	2 13.3%	11 73.3%	15	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 20%	12 80%	15	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	3 20%	12 80%	15	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 6.7%	0	3 20%	11 73.3%	15	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 20%	12 80%	15	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 6.7%	1 6.7%	2 13.3%	11 73.3%	15	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				E	DUC - 3320	Survey Comparisons					
Labs	Labs and Online Learning Questions		Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	205	4.4	86
Q16	The course topics are organized in a coherent fashion.	0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4	276	4.4	52

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

Course:	GEOG - 1710 030 - Earth Science	Department:	514000
Responsible Faculty:	Donna Hamilton	Responses / Expected:	3 / 14 (21.43%)

_				Donna H	lam	ilton		
Cour	se Evaluation Questions		Respo	onses (%))		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q7	My instructor establishes a climate of respect for students.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q9	My instructor encourages me to do my best work.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

University of North Texas at Dallas UNT-Dallas

				GEOG -	171	Survey Comparisons					
Labs	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	205	4.4	9
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	276	4.4	7

Course:	GEOG - 1710 330 - Earth Science	Department:	514000
Responsible Faculty:	Donna Hamilton	Responses / Expected:	2 / 14 (14.29%)

Cour	rse Evaluation Questions		Da			Hamilto		dividual
		SD	D	sponse N	S (%	SA	N N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	0	1 50%	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	0	1 50%	2	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	0	1 50%	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	0	1 50%	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	0	1 50%	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	0	1 50%	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			D-			1710 - 33		Survey Comparisons All			
Lab	s and Online Learning Questions	Responses (%) Course		N	Pct						
		SD	D	N	Α	SA	N	Mean	N	Mean	Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	205	4.4	23
Q16	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	276	4.4	23

Summer 2017 5W2 Survey	University of North Texas at Dallas
6173 - Summer 2017 - 5W2	UNT-Dallas

Course:	HSML - 4500 040 - Diversity and Social Justice in Human Services	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	8 / 21 (38.10%)

Cou	se Evaluation Questions			She	lia Lumar			
Ooui	SE EVALUATION QUESTIONS		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 25%	3 37.5%	2 25%	1 12.5%	8	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	1 12.5%	2 25%	1 12.5%	3 37.5%	8	3.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	1 12.5%	2 25%	2 25%	2 25%	8	3.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	2 25%	1 12.5%	3 37.5%	1 12.5%	8	3.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 25%	2 25%	2 25%	2 25%	8	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	4 50%	2 25%	8	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	2 25%	1 12.5%	2 25%	2 25%	8	3.3
Q9	My instructor encourages me to do my best work.	0	1 14.3%	2 28.6%	2 28.6%	2 28.6%	7	3.7
Q10	My instructor provides timely feedback to guide my progress.	2 25%	2 25%	2 25%	2 25%	0	8	2.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	3 37.5%	3 37.5%	1 12.5%	8	3.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 25%	5 62.5%	1 12.5%	8	3.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	4 50%	1 12.5%	3 37.5%	8	3.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				HSN	1L - 450	0 - 040)	Survey Comparisons			
Lab	Labs and Online Learning Questions		Resp	onse	es (%)		Course			All	
		SD	D	N	A	SA	N Mean		N Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 50%	0	1 50%	0	2	3.0	205	4.4	6
Q16	The course topics are organized in a coherent fashion.	0	1 20%	0	4 80%	0	5	3.6	276	4.4	11

Course:	KINE - 3551 001 - Physical and Health Literacy	Department:	518200
Responsible Faculty:	Shira Butler	Responses / Expected:	8 / 14 (57.14%)

^	Further the Occasion				Shira B	utler		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 50%	4 50%	8	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 50%	4 50%	8	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				KIN	E - 3551 -	Survey Comparisons					
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD D N A SA		N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	1 25%	1 25%	2 50%	4	4.3	205	4.4	42
Q10	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	276	4.4	23

Course:	MATH - 1680 031 - Elementary Probability and Statistics	Department:	514160
Responsible Faculty:	Vinod Arya	Responses / Expected:	2 / 12 (16.67%)

	ourse Evaluation Questions				Vinod A	rya		
Cour	se Evaluation Questions			Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 100%	0	0	2	3.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					TH - 1680	031		_	Survey Comparisons			
Lab	s and Unline Learning Questions	arning Questions Responses (%) Course		Course	All							
		SD	D	N	A	SA N Me		Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	205	4.4	12	
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	276	4.4	23	

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 3720 010 - Organizational Behavior	Department:	516100
Responsible Faculty:	William Ingram	Responses / Expected:	12 / 25 (48%)

Cour	se Evaluation Questions				illiam Ing	ram	l	111
				Respons	. ,			lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	4 33.3%	3 25%	5 41.7%	12	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 25%	2 16.7%	7 58.3%	12	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	3 25%	3 25%	6 50%	12	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	4 33.3%	3 25%	5 41.7%	12	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 25%	3 25%	6 50%	12	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	4 33.3%	3 25%	5 41.7%	12	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	3 25%	4 33.3%	5 41.7%	12	4.2
Q8	My instructor is available to me on matters pertaining to the course.	0	0	3 25%	3 25%	6 50%	12	4.3
Q9	My instructor encourages me to do my best work.	0	1 8.3%	3 25%	2 16.7%	6 50%	12	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 30%	2 20%	5 50%	10	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 16.7%	5 41.7%	5 41.7%	12	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 8.3%	2 16.7%	3 25%	6 50%	12	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				М	GMT - 372		Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%)						ourse	All		
	SD		D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	205	4.4	66
Q16	The course topics are organized in a coherent fashion.	0	0	1 10%	3 30%	6 60%	10	4.5	276	4.4	58

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 3720 011 - Organizational Behavior	Department:	516100
Responsible Faculty:	William Ingram	Responses / Expected:	9 / 21 (42.86%)

٥	Fushington Occasions				William II	ngram		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				MG	MT - 3720	Survey Comparisons					
Lab	s and Online Learning Questions			Respons	es (%)		(Course		All	
	SD D N A SA		N	Mean	n N Mean F						
Q15	The section or lab is well integrated into the course structure.	0	0	2 25%	2 25%	4 50%	8	4.3	205	4.4	42
Q16	The course topics are organized in a coherent fashion.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	276	4.4	66

Course:	MGMT - 3850 010 - Foundations of Entrepreneurship	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	26 / 33 (78.79%)

^	Production Occupion				Isaura Fl	ores		
Cour	se Evaluation Questions			Respon	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 3.8%	0	1 3.8%	8 30.8%	16 61.5%	26	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 19.2%	21 80.8%	26	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 19.2%	21 80.8%	26	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 23.1%	20 76.9%	26	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	6 23.1%	20 76.9%	26	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 15.4%	22 84.6%	26	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 19.2%	21 80.8%	26	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 15.4%	22 84.6%	26	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 11.5%	23 88.5%	26	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 15.4%	22 84.6%	26	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 24%	19 76%	25	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	7 26.9%	19 73.1%	26	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 20%	20 80%	25	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 3.8%	5 19.2%	20 76.9%	26	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MGMT -	3850 - 01	Survey Comparisons				
La	Labs and Online Learning Questions		ı	Resp	onses (%	5)	C	ourse		All	
		SD D N A SA		N	Mean	N	N Mean Pct Rnk				
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 7.7%	12 92.3%	13	4.9	205	4.4	89
Q1	The course topics are organized in a coherent fashion.	a coherent fashion. 0 0 0 2 19 90.5% 2		21	4.9	276	4.4	91			

Course:	MKTG - 3650 010 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Kathleen Meyer	Responses / Expected:	11 / 38 (28.95%)

	Furthering Occasions			Ka	thleen Me	eyer		
Cour	se Evaluation Questions		Re	Inc	lividual			
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	1 9.1%	0	3 27.3%	7 63.6%	11	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	0	1 9.1%	1 9.1%	8 72.7%	11	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 30%	7 70%	10	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				N	1KTG - 36		Survey Comparisons				
Lab	Labs and Online Learning Questions Responses (%) SD D N A SA		Responses (%)						All		
			N	Mean	N	Mean	Pct Rnk				
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	205	4.4	76
Q16	The course topics are organized in a coherent fashion.	1 10%	0	2 20%	0	7 70%	10	4.2	276	4.4	38

Course:	PLDR - 5335 030 - PLDR Nonprofit Management	Department:	514240
Responsible Faculty:	Kimberly O`neil	Responses / Expected:	5 / 12 (41.67%)

Course Evaluation Questions				Kimberly O'neil									
Coui	ouise Evaluation daestions		R	Responses (%)			Individual						
		SD	D	N	Α	SA	N	Mean					
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0					
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8					
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6					
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8					
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6					
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6					
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8					
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8					
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8					
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0					
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0					
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8					
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8					
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PLDR -	5335 - 030	Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%)					(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	205	4.4	95
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	276	4.4	82

Course:	PSCI - 1050 030 - American Government: Process and Policies	Department:	514000
Responsible Faculty:	Ronald Hy	Responses / Expected:	8 / 26 (30.77%)

^	Furbusting Occasions				Ronald	Ну		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 75%	2 25%	8	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 75%	2 25%	8	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 50%	4 50%	8	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					PSCI - 1	050 - 03	0		Survey Comparisons			
		Responses ()	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	205	4.4	56	
q	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	276	4.4	58	

Course:	PSYC - 1100 030 - Introduction to Psychology	Department:	514200
Responsible Faculty:	Candice Kowalski-Dulaney	Responses / Expected:	5 / 11 (45.45%)

Cour	rse Evaluation Questions			andice		ki-Dula	•	
			1	sponse				dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 40%	0	3 60%	5	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 40%	0	3 60%	5	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 40%	0	3 60%	5	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 20%	1 20%	0	3 60%	5	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 40%	0	3 60%	5	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 40%	0	3 60%	5	4.2
Q9	My instructor encourages me to do my best work.	0	1 20%	0	0	4 80%	5	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 20%	1 20%	0	3 60%	5	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 40%	0	3 60%	5	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	1 20%	0	1 20%	3 60%	5	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 20%	0	1 20%	3 60%	5	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions						100 - 03	80		Survey Comparisons			
			Re	sponses	s (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	2 50%	0	2 50%	4	4.0	205	4.4	23	
Q16	The course topics are organized in a coherent fashion.	0	0	2 50%	0	2 50%	4	4.0	276	4.4	23	

Course:	PSYC - 3100 030 - Social Psychology	Department:	514200
Responsible Faculty:	Suzanne Manning	Responses / Expected:	5 / 25 (20%)

Col	se Evaluation Questions				Suzann	e Manni	ing	
Cour	se evaluation questions		Re	spo	nses (%)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					PSYC - 3	100 - 030		Survey Comparisons				
		Responses (%))	•	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	205	4.4	56	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	276	4.4	76	

Course:	PSYC - 3200 030 - Research Methods	Department:	514200
Responsible Faculty:	Margarita Sala	Responses / Expected:	12 / 28 (42.86%)

Cou	se Evaluation Questions			М	argarita	Sala		
Coui	se Evaluation Questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 8.3%	1 8.3%	2 16.7%	8 66.7%	12	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 8.3%	1 8.3%	1 8.3%	9 75%	12	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 16.7%	1 8.3%	9 75%	12	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 8.3%	0	2 16.7%	9 75%	12	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 8.3%	1 8.3%	2 16.7%	8 66.7%	12	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 16.7%	1 8.3%	9 75%	12	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 25%	9 75%	12	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q9	My instructor encourages me to do my best work.	0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 8.3%	0	2 16.7%	9 75%	12	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 16.7%	1 8.3%	9 75%	12	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 8.3%	1 8.3%	2 16.7%	8 66.7%	12	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			PS	YC - 320	00 - 030		Survey Comparisons				
		Resp	ons	es (%)		Course	e All				
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	205	4.4	81	
Q16 The course topics are organized in a coherent fashion.	0	2 28.6%	0	0	5 71.4%	7	4.1	276	4.4	35	

(Course:	PSYC - 3490 030 - Psychology of Women	Department:	514200
Responsible F	Faculty:	Elizabeth Casadecalvo	Responses / Expected:	9 / 31 (29.03%)

C	- Fusiontian Overtions			Eliz	abeth Cas	sadecalvo	,	
Coul	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PSYC - 3	490 - 030	Survey Comparisons				
Lab	Labs and Online Learning Questions			Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	205	4.4	81
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	276	4.4	89

Course:	PSYC - 3530 030 - Psychology of the Offender	Department:	514200
Responsible Faculty:	Suzanne Manning	Responses / Expected:	13 / 29 (44.83%)

				Suz	anne Ma	nning		
Cour	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 7.7%	2 15.4%	4 30.8%	6 46.2%	13	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 23.1%	5 38.5%	5 38.5%	13	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 46.2%	7 53.8%	13	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	5 38.5%	7 53.8%	13	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	1 7.7%	6 46.2%	5 38.5%	13	4.2

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \textbf{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \textbf{Disagree=2} \ \ [\textbf{N}] \ \ \textbf{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \textbf{Agree=4} \ \ [\textbf{SA}] \ \ \textbf{Strongly Agree=5} \ \ \textbf{Sagree=4} \ \ \textbf{Sagree=4}$

				ı	PSYC - 35	30 - 030	Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)					ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q.	5 The section or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	205	4.4	76
Q.	6 The course topics are organized in a coherent fashion.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	276	4.4	69

Course:	PSYC - 4020 030 - Psychology of Death and Dying	Department:	514200
Responsible Faculty:	Teresa Collins-Jones	Responses / Expected:	5 / 18 (27.78%)

Com	se Evaluation Questions			Teres	a Collin	s-Jone		
Coui	se Evaluation Questions		Re	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	2 40%	2 40%	5	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	0	2 40%	2 40%	5	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					PSYC - 4	020 - 030	Survey Comparisons				
La	bs and Online Learning Questions			Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	205	4.4	71
Q	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	276	4.4	76

Course:	PSYC - 4690 030 - Introduction to Learning and Memory	Department:	514200
Responsible Faculty:	Brittany Landrum	Responses / Expected:	7 / 17 (41.18%)

	Forbutton Occations			Bri	ttany Lan	drum		
Coui	se Evaluation Questions		Resp	ons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	1 14.3%	0	1 14.3%	4 57.1%	7	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

						4690 - 030			Survey Comparisons			
Labs	Labs and Online Learning Questions		Resp	onse	es (%	·)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	1 25%	0	0	3 75%	4	4.3	205	4.4	42	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	276	4.4	96	

Course:	SOCI - 1520 030 - Contemporary Social Problems	Department:	514200
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	2 / 11 (18.18%)

0	Forbusting Oversions			Sy	eda Jes	min		
Cour	se Evaluation Questions		R	esponses	(%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 50%	1 50%	0	0	2	2.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 50%	0	0	1 50%	2	3.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 50%	0	0	1 50%	2	3.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 100%	0	0	2	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	0	1 50%	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	2 100%	0	0	2	3.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					SOCI - 15	20 - 030			Survey Comparisons			
Lab	Labs and Online Learning Questions		R	espo	onses (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	205	4.4	23	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	276	4.4	58	

Course:	SOCI - 3200 030 - Sociological Theory.	Department:	514200
Responsible Faculty:	Steven Arxer	Responses / Expected:	6 / 15 (40%)

Cour	se Evaluation Questions				Steve			
	•				ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					SOCI - 3	200 - 030	Survey Comparisons				
La	Labs and Online Learning Questions			Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	205	4.4	95
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	276	4.4	76

Course:	SOCI - 4260 030 - Topics in Sociology	Department:	514200
Responsible Faculty:	Paul Reynolds	Responses / Expected:	5 / 9 (55.56%)

Com	rse Evaluation Questions				Paul	Reynolds		
Coui	se Evaluation Questions		R	espo	onses (9	6)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \textbf{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \textbf{Disagree=2} \ \ [\textbf{N}] \ \ \textbf{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \textbf{Agree=4} \ \ [\textbf{SA}] \ \ \textbf{Strongly Agree=5} \ \ \textbf{Sagree=4} \ \ \textbf{Sagree=4}$

				;	SOCI - 4	260 - 03	0		Survey Comparisons			
La	Labs and Online Learning Questions		Re	spo	nses (%))	(Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	205	4.4	86	
Q	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	276	4.4	86	

Summer 2017 5W2 Survey 6173 - Summer 2017 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	SOCI - 4540 031 - Race and Ethnic Minorities	Department:	514200
Responsible Faculty:	Adrian Tan	Responses / Expected:	10 / 30 (33.33%)

C	as Fusiontian Overtions			A	drian Tar	1		
Cour	se Evaluation Questions		R	esponses	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	0	3 30%	6 60%	10	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	0	2 20%	7 70%	10	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	1 10%	8 80%	10	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	0	0	9 90%	10	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 10%	0	1 10%	8 80%	10	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	1 11.1%	3 33.3%	4 44.4%	9	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 20%	1 10%	7 70%	10	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	2 20%	7 70%	10	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	0	9 90%	10	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	0	8 88.9%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 20%	1 10%	7 70%	10	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	0	9 90%	10	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			SOCI -	454	0 - 031	Survey Comparisons				
Lab			Resp	Responses (%)				Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 25%	0	3 75%	4	4.5	205	4.4	56
Q16	The course topics are organized in a coherent fashion.	0	1 20%	0	0	4 80%	5	4.4	276	4.4	48

Course:	SOCI - 4990 030 - Sociology Capstone	Department:	514200
Responsible Faculty:	Steven Arxer	Responses / Expected:	6 / 21 (28.57%)

Cour	se Evaluation Questions					en Arxer		
				Res	onses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				:	SOCI - 4	990 - 03	Survey Comparisons				
			Re	spo	nses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The s	section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	205	4.4	81
Q16 The c	course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	276	4.4	86

Course:	TECM - 2700 030 - Technical Writing	Department:	514120
Responsible Faculty:	Lea Young	Responses / Expected:	4 / 17 (23.53%)

٥	se Evaluation Questions				Lea Yo	ung		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				T	TECM - 2	2700 - 03	30		Survey Comparisons			
Labs and Online Learning Questions			Re	spo	nses (%))	Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	205	4.4	56	
Q	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	276	4.4	82	

Summer 2017 LW1 Survey

University of North Texas at Dallas
6173 - Summer 2017 - LW1

UNT-Dallas

Course:	LAW - 7V91 501 - Practicum	Department:	LawSchool
Responsible Faculty:	Johannes Walker	Responses / Expected:	3 / 15 (20%)

C	Traduction Organisms				Johannes	Walker		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	- 7V91 - 50	01			Survey Comparisons				
Labs	and Online Learning Questions	Responses (%)			Responses (%)						Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	22	3.9	-			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	40	3.9	82			

Summer 2017 LW1 Survey 6173 - Summer 2017 - LW1

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7V91 502 - Practicum	Department:	LawSchool
Responsible Faculty:	Jonathan Perry	Responses / Expected:	4 / 11 (36.36%)

Cour	se Evaluation Questions			Jo	nathan	Perry		
Cour	se Evaluation Questions		Re	esponse	es (%)		ln	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 25%	0	0	3 75%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	0	3 75%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	٩W -	- 7V91 - 50	02		Survey Comparisons				
Labs and Online Learning Questions			Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	22	3.9	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	40	3.9	82		

Summer 2017 LW1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - LW1	UNT-Dallas

Course:	LAW - 7V93 002 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	1 / 1 (100%)

Cour	rse Evaluation Questions				Che	ryl Wattle	еу	
Cour	se Evaluation Questions		_	·	ses	` ,		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Strong	gly Agree=5

Course:	LAW - 7V93 502 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	12 / 36 (33.33%)

Cou	se Evaluation Questions				eryl Watt	еу		
			R	esponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	1 8.3%	3 25%	3 25%	4 33.3%	12	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 8.3%	3 25%	4 33.3%	4 33.3%	12	3.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 16.7%	7 58.3%	3 25%	12	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 8.3%	2 16.7%	4 33.3%	5 41.7%	12	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 8.3%	2 16.7%	5 41.7%	4 33.3%	12	4.0
Q7	My instructor establishes a climate of respect for students.	1 8.3%	0	2 16.7%	6 50%	3 25%	12	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	3 25%	6 50%	3 25%	12	4.0
Q9	My instructor encourages me to do my best work.	1 8.3%	0	1 8.3%	4 33.3%	6 50%	12	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	0	3 25%	4 33.3%	4 33.3%	12	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	2 20%	4 40%	3 30%	10	3.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	2 20%	4 40%	3 30%	10	3.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 16.7%	6 50%	4 33.3%	12	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	3 25%	3 25%	5 41.7%	12	3.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		LAW - 7V93 - 502								Survey Comparisons			
Labs and Online Learning Questions		Responses (%)						Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1!	The section or lab is well integrated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	22	3.9	82		
Q16	The course topics are organized in a coherent fashion.	0	1 20%	1 20%	0	3 60%	5	4.0	40	3.9	50		

Summer 2017 LW1 Survey	University of North Texas at Dallas
6173 - Summer 2017 - LW1	UNT-Dallas

Course:	LAW - 7V98 002 - Independent Study	Department:	LawSchool
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	1 / 4 (25%)

Cour	se Evaluation Questions					ca Hasel		
-			_	i -	onses (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5

Course:	LAW - 7101 501 - Principles of Accounting and Finance for Lawyers	Department:	LawSchool
Responsible Faculty:	Allison McLeod	Responses / Expected:	8 / 29 (27.59%)

٥	SD D N A SA N M 1							
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.				0		8	2.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.					1 12.5%	8	3.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.				0	1 12.5%	8	2.0
Q4	My instructor provides material that helps me do well on assignments.				0		7	2.1
Q5	My instructor explains new ideas by relating them to familiar concepts.					1 12.5%	8	3.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.				0	1 12.5%	8	2.3
Q7	My instructor establishes a climate of respect for students.	0	0				8	4.1
Q8	My instructor is available to me on matters pertaining to the course.	0					8	4.1
Q9	My instructor encourages me to do my best work.		0	0			8	3.6
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	0	0			8	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.						8	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9
Q13	My instructor encourages me to develop new viewpoints.	2 25%	0	2 25%	1 12.5%	3 37.5%	8	3.4
Q14	My instructor made the subject interesting and motivated me to learn.	2 25%	4 50%	0	1 12.5%	1 12.5%	8	2.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		LAW - 7101 - 501							Survey Comparisons			
Labs and Online Learning Questions		Responses (%) Course							All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	22	3.9	-	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	40	3.9	61	

Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Stewart Caton	Responses / Expected:	7 / 15 (46.67%)

Cour	se Evaluation Questions					rt Caton		
				i	onses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	7108 - 50	01		Survey Comparisons				
La	Labs and Online Learning Questions		Res	pons	ses	(%)	Course			All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q.	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	22	3.9	93		
Q.	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	40	3.9	82		

Course:	LAW - 7108 502 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Bailey Eagin	Responses / Expected:	8 / 16 (50%)

Cour	se Evaluation Questions			В	ailey Eag	in		
Cour	se evaluation questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	0	7 87.5%	8	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	0	7 87.5%	8	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	0	7 87.5%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	0	7 87.5%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	8 100%	8	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	7108 - 50	02		Survey Comparisons			
La	Labs and Online Learning Questions		Res	ons	ses ((%)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	22	3.9	93	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	40	3.9	82	

Summer 2017 LW1 Survey 6173 - Summer 2017 - LW1

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7111 501 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Laura Frase	Responses / Expected:	8 / 14 (57.14%)

Cour	se Evaluation Questions				Laur	ra Frase		
Cour	se Evaluation Questions	R	esp	onse	es (%	6)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	0	7 87.5%	8	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q9	My instructor encourages me to do my best work.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	0	0	7 87.5%	8	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	0	0	7 87.5%	8	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				LA	W - 7	7111 - 50)1		Survey Comparisons				
Labs and Online Learning Questions		F	Resp	onse	es (%	5)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	22	3.9	-		
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	0	1 50%	2	3.0	40	3.9	21		

Course:	LAW - 7122 501 - Trial Advocacy Topics	Department:	LawSchool
Responsible Faculty:	Terry Oxford	Responses / Expected:	4 / 11 (36.36%)

Cour	se Evaluation Questions				Terry C	xford		
Cour	se Evaluation Questions		F	espons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	- 7122 - 50)1		Survey Comparisons				
Labs and Online Learning Questions			Res	pons	ses	(%)	-	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	22	3.9	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	40	3.9	82		

Cou	se:	LAW - 7298 501 - Legal Analysis for the Texas Bar III	Department:	LawSchool
Responsible Fact	lty:	Jessica Haseltine	Responses / Expected:	4 / 10 (40%)

^	Productive Occupions			J	essica l	Haseltii	ne	
Cour	se Evaluation Questions		Res	pon	ses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 25%	0	0	0	3 75%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	0	1 25%	2 50%	4	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	1 25%	2 50%	4	3.8
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	0	0	3 75%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	0	3 75%	4	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	1 25%	2 50%	4	3.8
Q7	My instructor establishes a climate of respect for students.	1 25%	0	0	0	3 75%	4	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0	0	0	3 75%	4	4.0
Q9	My instructor encourages me to do my best work.	1 25%	0	0	0	3 75%	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	0	3 75%	4	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	0	3 75%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	1 25%	2 50%	4	3.8
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	1 25%	2 50%	4	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	1 25%	2 50%	4	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				LAV	V - 7	298 - 501		Survey Comparisons				
Lal	s and Online Learning Questions	F	lesp	onse	es (%	6)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	22	3.9	54	
Q1	The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	40	3.9	39	

Course:	LAW - 7317 501 - Professional Responsibility	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	20 / 40 (50%)

Cour	se Evaluation Questions				chael Ma	slanka		
			F	Respons	ses (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5%	3 15%	1 5%	8 40%	7 35%	20	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 5%	0	10 50%	9 45%	20	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 5%	1 5%	11 55%	7 35%	20	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	2 10%	1 5%	9 45%	8 40%	20	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 5.3%	0	11 57.9%	7 36.8%	19	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 15%	9 45%	8 40%	20	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 25%	15 75%	20	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 35%	13 65%	20	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 5%	4 20%	15 75%	20	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	7 35%	13 65%	20	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5%	6 30%	13 65%	20	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5%	6 30%	13 65%	20	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 15%	7 35%	10 50%	20	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		LAW - 7317 - 501								Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1!	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	22	3.9	71			
Q16	The course topics are organized in a coherent fashion.	1 12.5%	2 25%	0	3 37.5%	2 25%	8	3.4	40	3.9	32			

Course:	LAW - 7388 001 - Externship Seminar	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	13 / 45 (28.89%)

C-1::-	se Evaluation Questions			Cher	yl Wattle	у		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.7%	2 15.4%	7 53.8%	2 15.4%	1 7.7%	13	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	1 7.7%	5 38.5%	5 38.5%	1 7.7%	13	3.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	4 30.8%	1 7.7%	4 30.8%	3 23.1%	1 7.7%	13	2.7
Q4	My instructor provides material that helps me do well on assignments.	3 23.1%	3 23.1%	4 30.8%	2 15.4%	1 7.7%	13	2.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	2 15.4%	8 61.5%	1 7.7%	1 7.7%	13	2.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 15.4%	3 23.1%	5 38.5%	2 15.4%	1 7.7%	13	2.8
Q7	My instructor establishes a climate of respect for students.	0	2 15.4%	2 15.4%	6 46.2%	3 23.1%	13	3.8
Q8	My instructor is available to me on matters pertaining to the course.	1 7.7%	3 23.1%	5 38.5%	2 15.4%	2 15.4%	13	3.1
Q9	My instructor encourages me to do my best work.	0	1 7.7%	9 69.2%	2 15.4%	1 7.7%	13	3.2
Q10	My instructor provides timely feedback to guide my progress.	2 15.4%	5 38.5%	4 30.8%	1 7.7%	1 7.7%	13	2.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 7.7%	4 30.8%	6 46.2%	2 15.4%	13	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.7%	0	4 30.8%	6 46.2%	2 15.4%	13	3.6
Q13	My instructor encourages me to develop new viewpoints.	2 15.4%	0	5 38.5%	5 38.5%	1 7.7%	13	3.2
Q14	My instructor made the subject interesting and motivated me to learn.	3 23.1%	2 15.4%	5 38.5%	2 15.4%	1 7.7%	13	2.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			LAW	Survey Comparisons						
Lab			Res	ponses	s (%)		(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	2 28.6%	0	3 42.9%	1 14.3%	7	3.1	22	3.9	61
Q16	The course topics are organized in a coherent fashion.	1 12.5%	2 25%	2 25%	2 25%	1 12.5%	8	3.0	40	3.9	21

Course:	LAW - 7388 002 - Externship Seminar	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	2 / 2 (100%)

Cour	se Evaluation Questions				Angela D	ownes		
Cour	se Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	1 50%	0	2	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	1 50%	0	2	3.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				LAW - 738	8 - 00	2		Survey Comparisons				
La			Re	spo	nses (%)		(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	22	3.9	71		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	40	3.9	50		